

Vol. 36, No. 41	October 12, 2017	Pages 1135-1162
In this issue		Page
Legislature		_
Interim committee schedule		1136
Rates		
Pooled Money Investment Board Notice of investment rates		1137
Notices		
Statewide Independent Living Council of Kansas Notice of meeting		1137
Kansas Children's Cabinet and Trust Fund Notice of meeting		
Department of Administration – Office of the Chief Financial	l Officer	
Department of Administration – Office of Facilities and Prop Notice of requested architectural services	erty Management	
Department of Agriculture – Division of Conservation		1107
Notice to contractors		1138
Kansas Board of Regents Universities Notice to bidders		1138
Kansas Department of Administration – Procurement and Co	ontracts	
Notice to bidders for state purchases		1138
Kansas Department of Health and Environment		1120
Notice concerning water pollution control permits/application		
Notices concerning proposed air quality class I operating per Department of Agriculture – Division of Water Resources	riiiit renewai	1142
Notice of hearing concerning GMD #4 LEMA plan		1143
Bond Sales		
City of Fredonia, Kansas Notice of intent to seek private placement general obligation	hands	11/13
Riley County, Kansas	DOITGS	1143
Summary notice of bond sale		1144
Wabaunsee County, Kansas Summary notice of bond sale		
Regulations		
Kansas Lottery		
Temporary administrative regulations		1145
Index to administrative regulations		1157

State of Kansas

Legislature

Interim Committee Schedule

The Legislative Research Department gives notice that the following legislative committees plan to meet on the dates listed below based on current information and subject to change. Requests for accommodation to participate in committee meetings should be made at least two working days in advance of the meeting by contacting Legislative Administrative Services at 785-296-2391 or TTY 711, or email legserv@las.ks.gov.

Date	Room	Time	Committee	Agenda
Oct 10	112-N	9:00 a.m.	Child Welfare System Task Force	Kansas Foster Care System historical overview and contracts overview, facilitator status update, working groups reports, confidentiality and testimony overviews, and testimony parameters discussion.
Oct 11	548-S	9:00 a.m.	Special Committee on Financial Institutions and Insurance	Review of assigned legislation relating to the Uniform Consumer Credit Code and Consumer Loans (HB 2267) and Automobile Liability Insurance Policies and certain limits (HB 2104).
Oct 19	548-S	9:30 a.m.	Special Committee on Health	Demonstration of telemedicine technologies; study of telemedicine – presentations from individuals, providers, and organizations.
Oct 20	548-S	9:30 a.m.	Special Committee on Health	Continuation of study of telemedicine – presentations from individuals, providers, and organizations; roundtable discussion of telemedicine; Committee comments and recommendations.
Oct 24	152-S	ТВА	Joint Committee on Administrative Rules and Regulations	Review rules and regulations noticed for hearing by the Board of Accountancy, the Department of Health and Environment, the Board of Pharmacy, the Board of Veterinary Examiners, the Board of Emergency Medical Services, the Wildlife, Parks, and Tourism Commission, the Department of Health and Environment, the State Fire Marshal, the Department of Agriculture Division of Weights and Measures, the Department of Revenue, and the Board of Healing Arts.
Oct 27	582-N	TBA	Special Committee on Elections	Agenda not available.

Tom Day Director of Legislative Administrative Services

Doc. No. 045776

The Kansas Register (USPS 0662-190) is an official publication of the state of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the Kansas Secretary of State. One-year subscriptions are \$80 (Kansas residents must include applicable state and local sales tax). Single copies, if available, may be purchased for \$2. **Periodicals postage paid at Topeka, Kansas. POSTMASTER:** Send change of address form to Kansas Register, Secretary of State, 1st Floor, Memorial Hall, 120 SW 10th Ave., Topeka, KS 66612-1594.

© Kansas Secretary of State 2017. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Hard copy subscription information and current and back issues of the Kansas Register (PDF Format) can be found at the following link: http://www.sos.ks.gov/pubs/pubs_kansas_register.asp.

Published by

Kris W. Kobach Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594 785-296-4564 www.sos.ks.gov



Register Office: 1st Floor, Memorial Hall 785-296-0082 Fax 785-296-8577 kansasregister@ks.gov

State of Kansas

Pooled Money Investment Board

Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 12-1675(b)(c)(d) and K.S.A. 12-1675a(g).

Effective 10-9-17	through 10-15-17
Term	Rate
1-89 days	1.16%
3 months	1.08%
6 months	1.22%
12 months	1.39%
18 months	1.43%
2 years	1.50%

Scott Miller Director of Investments

Doc. No. 045765

State of Kansas

Statewide Independent Living Council

Notice of Meeting

The Statewide Independent Living Council of Kansas, Inc. (SILCK) will meet at 10:00 a.m. Thursday, November 9th, 2017, in Topeka, Kansas. The board meeting will be held at the SILCK office in the Downtown Ramada, 420 SE 6th Ave., Suite 2000, Topeka, KS 66607.

For more information or accommodations, please contact Kathy Cooper, SILCK Executive Director at 785-234-6990 or email at Kathy.Cooper@silck.org no later than November 2, 2017.

Kathy Cooper Executive Director

Doc. No. 045767

State of Kansas

Children's Cabinet and Trust Fund

Notice of Meeting

The Kansas Children's Cabinet and Trust Fund will conduct a board meeting from 9:00 a.m. to 2:00 p.m. Friday, October 20, 2017 in room 112-North of the Kansas Statehouse, 300 SW 10th St., Topeka, Kansas.

Please be advised that no beverages and food are permitted in the meeting room.

Janice Suzanne Smith Executive Director

Doc. No. 045773

State of Kansas

Department of Administration Office of the Chief Financial Officer

Public Notice

Under requirements of K.S.A. 65-34,117(c), as amended, records of the Office of the Chief Financial Officer show the unobligated balances are \$5,295,679.31 in the

Underground Petroleum Storage Tank Release Trust Fund and \$1,092,323.64 in the Aboveground Petroleum Storage Tank Release Trust Fund at September 30, 2017.

Annette Witt, Manager Office of the Chief Financial Officer

Doc. No. 045771

State of Kansas

Department of Administration Office of Facilities and Property Management

Notice of Requested Architectural Services

Notice is hereby given of the commencement of the selection process for architectural services for renovation of the Trotter Hall Clinical Skills Lab at Kansas State University. This building is part of the Department of Veterinary Medicine. The building will remain occupied while the first floor, 5,550 square foot space is renovated for Clinical Skills training, student study, and collaborative areas. Work will include architectural, fire alarm and sprinkler modifications, mechanical, plumbing, and electrical. The project construction budget is \$1,250,000.

An architectural/engineering program is available at http://admin.ks.gov/offices/ofpm/dcc/arch-eng-programs. For more information, contact Emmy Chamberlin at emmylove@ksu.edu.

To be considered, one (1) PDF file of the following should be provided: State of Kansas Professional Qualifications DCC Forms 051-054, inclusive, and information regarding similar projects. These forms may be found at http://admin.ks.gov/offices/ofpm/dcc/f-and-d. State of Kansas Professional Qualifications DCC Form 050 for each firm and consultant should be provided at the end of each proposal. Please include your firm name, agency abbreviation, and an abbreviated project name in the title of the PDF document. Proposals should be less than 5 MB and follow the current State Building Advisory Commission guidelines which can be found in Part B-Chapter 2 of the Building Design and Construction Manual at http://www.admin.ks.gov/offices/ofpm/dcc/ bdcm. Proposals should be sent on a CD, DVD, or flash drive along with a transmittal to Randy Riveland, Office of Facilities and Property Management, Suite 1200, 700 SW Harrison St., Topeka, KS 66612. Proposals sent via email will no longer be accepted and paper copies of the proposals are no longer required. It is the proposer's responsibility to ensure proposals are received by the closing date and time. Delays in mail delivery or any other means of transmittal, including couriers or agents of the issuing entity shall not excuse late proposal submissions. Proposals received after the date and time noted below will not be forwarded to the State Building Advisory Commission for review. If you have questions, call 785-296-0749. The PDF proposal submissions shall be delivered to the attention of Randy Riveland by 2:00 p.m. on or before October 27, 2017.

> Frank Burnam, Director Office of Facilities and Property Management

Doc. No. 045779

State of Kansas

Department of Agriculture Division of Conservation

Notice to Contractors

Project: Rock Creek Watershed Joint District No. 84, Detention Dam Site 205, located in Lyon County, Kansas.

Bid Opening: 10:00 a.m. (CDT) November 7, 2017; 501 Main St, Admire, KS 66830, 620-528-3710

Bids may be delivered to R.H.K. Enterprises, Inc., 501 Main St., Admire, KS 66830, 620-528-3710 until 5:00 p.m. November 6, 2017, or may be delivered at the time of opening.

Bid Documents, Plans and Specifications: Bid documents (which constitute the Project Manual and Construction Plans) may be obtained from R.H.K. Enterprises, Inc., 501 Main St., Admire, KS 66830, 620-528-3710.

Site Showing: 10:00 a.m. November 1, 2017 at the R.H.K. Enterprises, Inc. office, 501 Main St., Admire, KS 66830. In case of inclement weather, an alternate showing will be held at the R.H.K. Enterprises, Inc. office at 10:00 a.m. November 3, 2017.

General Nature of Proposed Construction: Rehabilitation for Site 205 will require an excavation/embankment of approximately 4,505 cubic yards, new embankment of approximately 1,240 cubic yards to raise the top of the dam, a principal spillway with a concrete riser and 168 feet of 18 inch PVC pipe, a 6" PVC drawdown pipe 208 feet long, and appurtenances. Rehabilitation includes stripping and constructing embankment on the front face of the dam as necessary to restore the embankment back to the grades shown on the construction plans and the placement of approximately 445 tons of riprap for berm protection. The bid schedule shows remaining bid items and estimated quantities.

For any questions pertaining to the project listed above, please contact Mr. Hakim Saadi, P.E. Watershed Program Manager at 785-291-3099 or hakim.saadi@ks.gov.

Robert Reschke, Executive Director Division of Conservation

Doc. No. 045774

State of Kansas

Board of Regents Universities

Notice to Bidders

The universities of the Kansas Board of Regents encourage interested vendors to visit the various universities' purchasing offices' websites for a listing of all transactions, including construction projects, for which the universities' purchasing offices, or one of the consortia commonly utilized by the universities, are seeking information, competitive bids, or proposals. The referenced construction projects may include project delivery construction procurement act projects pursuant to K.S.A. 76-7,125 et seq.

Emporia State University – Bid postings: http://www.emporia.edu/busaff/purchasing. Additional contact info: phone: 620-341-5145, fax: 620-341-5073, email: purchaseorders@emporia.

edu. Mailing address: Emporia State University Purchasing, Campus Box 4021, 1 Kellogg Circle, Emporia, KS 66801-5415.

Fort Hays State University – Bid postings: http://www.fhsu.edu/purchasing/bids/. Additional contact info: phone: 785-628-4251, fax: 785-628-4046, email: purchasing@fhsu.edu. Mailing address: Fort Hays State University Purchasing Office, 601 Park St., Sheridan Hall 318, Hays, KS 67601.

Kansas State University – Bid postings: https://www.k-state.edu/purchasing/rfq. Additional contact info: phone: 785-532-6214, fax: 785-532-5577, email: kspurch@k-state.edu. Mailing address: Division of Financial Services/Purchasing, 2323 Anderson Ave., Kansas State University, Manhattan, KS 66506.

Pittsburg State University – Bid postings: http://www.pittstate.edu/office/purchasing. Additional contact info: phone: 620-235-4169, fax: 620-235-4166, email: jensch@pittstate.edu. Mailing address: Pittsburg State University, Purchasing Office, 1701 S. Broadway, Pittsburg, KS 66762-7549.

University of Kansas – Electronic bid postings: http://www.procurement.ku.edu/. Paper bid postings and mailing address: KU Purchasing Services, 1246 W. Campus Road, Room 30, Lawrence, KS 66045. Additional contact info: phone: 785-864-5800, fax: 785-864-3454, email: purchasing@ku.edu.

University of Kansas Medical Center – Bid postings: http://www2.kumc.edu/finance/purchasing/bids.html. Additional contact info: phone: 913-588-1100, fax: 913-588-1102. Mailing address: University of Kansas Medical Center, Purchasing Department, Mail Stop 2034, 3901 Rainbow Blvd., Kansas City, KS 66160.

Wichita State University – Bid postings: http://www.wichita.edu/purchasing. Additional contact info: phone: 316-978-3080, fax: 316-978-3528. Mailing address: Wichita State University, Office of Purchasing, 1845 Fairmount Ave., Campus Box 12, Wichita, KS 67260-0012.

Cathy Oehm Chair of Regents Purchasing Group Assistant Director of Purchasing Kansas State University

Doc. No. 045529

State of Kansas

Department of Administration Procurement and Contracts

Notice to Bidders

Sealed bids for items listed will be received by the director of Procurement and Contracts until 2:00 p.m. on the date indicated. For more information, call 785-296-2376:

10/27/2017	EVT0005391	Rearing Pond Improvements
10/31/2017	EVT0005375	Homeland Security Grant
		Program Manager
11/06/2017	EVT0005384	Court Reporting Services
11/07/2017	EVT0005388	Drug and Alcohol Testing

The above referenced bid documents can be downloaded at the following website:

http://admin.ks.gov/offices/procurement-and-contracts/bid-solicitations

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

http://admin.ks.gov/offices/procurement-and-contracts/additional-files-for-bid-solicitations

11/07/2017 A-013388

Kansas Byways: Phase 1 Implementation Various Locations, Kansas

Information regarding prequalification, projects and bid documents can be obtained at 785-296-8899 or http://admin.ks.gov/offices/ofpm/dcc.

Tracy T. Diel, Director Procurement and Contracts

Doc. No. 045780

State of Kansas

Department of Health and Environment

Notice Concerning Kansas/Federal Water Pollution Control Permits and Applications

In accordance with Kansas Administrative Regulations 28-16-57 through 63, 28-18-1 through 17, 28-18a-1 through 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations, and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation, and reissuance of the designated permit or termination of the designated permit.

Public Notice No. KS-AG-17-221/223

Pending Permits for Confined Feeding Facilities

Name and Address of Applicant	Legal Description	Receiving Water
Derick McCauley Driftwood Cattle Company, LLC 22231 Road R Kismet, KS 67859	SW/4 of Section 36 T31S, R32W Seward County	Cimarron River Basin

Kansas Permit No. A-CISW-C008 Federal Permit No. KS0098388

This is a renewal permit for an existing facility for 2,500 head (1,250 animal units) of cattle weighing less than 700 pounds. There is no change to the permitted animal units of the facility. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Stewart Stabel Stabel Family Farms, LLC 2913 Highway 25 Lakin, KS 67860	Sections 35 and 36 T19S, R38W & SW/4 of Section 31 T19S, R37W Wichita County	Upper Arkansas River Basin

Kansas Permit No. A-UAWH-H003 Federal Permit No. KS0095401

This is a renewal permit for an existing facility for 86,400 head (34,560 animal units) of swine weighing more than 55 pounds. Facility is no longer a grower/finisher site and is now a finisher site. There has

been a decrease in animal numbers from the last permit. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Troy D. Hallagin MH Properties 3304 Thunderbird Hays, KS 67601	SE/4 of Section 31 & SW/4 of Section 32 T14S, R21W Trego County	Smoky Hill River Basin

Kansas Permit No. A-SHTR-B005

This permit is being reissued for an existing facility with a maximum capacity of 275 head (275 animal units) of cattle more than 700 pounds and 625 head (312.5 animal units) of cattle 700 pounds or less, for a total of 900 head (587.5 animal units) of cattle. There is no change in the permitted animal units from the previous permit cycle.

Public Notice No. KS-AG-R-17-023

Per Kansas Statutes Annotated 65-171d, the following registration have been received for proposed confined feeding facilities:

Name and Address of Registrant	Legal Description	County
Andrew Pumphrey KP Trailerwash, L.L.C. 1877 L Road Mankato, KS 66956	NE/4 of Section 12 T04S, R08W	Jewell

Public Notice No. KS-Q-17-127/131

The requirements of the draft permit public noticed below are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28 (b-g), and Federal Surface Water Criteria.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Cherokee County Rural Water District #4 209 E. 3rd St. Scammon, KS 66773	Shawnee Creek via Unnamed Tributary via Ditch	Process Wastewater

Kansas Permit No. I-NE15-PO03 Federal Permit No. KS0101184

Legal Description: NW¼, NW¼, S29, T32S, R24E, Cherokee County, KS

The proposed action is to issue a new Kansas/NPDES Water Pollution Control Permit for an existing water treatment plant. This treatment facility includes two parallel treatment trains, which are normally operated one at a time. Groundwater is pumped from an underground aquifer by one of the two wells, and is pumped to an aerator and flows by gravity to a chlorine contact chamber where chlorine is injected. Water then flows into a sand filter. The filter backwash water is de-chlorinated in a contact tank prior to discharge. The proposed permit contains limits for total suspended solids, total residual chlorine, and pH, as well as monitoring for total recoverable cadmium, copper, lead and zinc. Contained in the permit is a schedule of compliance requiring the permittee to either become field certified for testing for pH and total residual chlorine or make such arrangements with a KDHE-certified laboratory to have the tests run to comply with the sample-to-test time of 15 minutes as required by EPA's interpretation of "Analyze Immediately" in 40 CFR Part 136.

•	•	
Name and Address of Applicant	Receiving Stream	Type of Discharge
Chisholm Creek Utility Authority (CCUA) 5551 N. Broadway Park City, KS 67219	Chisholm Creek	Treated Domestic Wastewater

(continued)

Kansas Permit No. M-LA19-OO02

Federal Permit No. KS0089176

Legal Description: E½, SE, SE¼, S17, T26S, R1E, Sedgwick County, KS

The proposed action is to reissue an existing State/NPDES permit for an existing facility. This facility is a mechanical treatment plant consisting of two mechanical screen units, emergency bar screen, Eutek grit removal system, three chamber sequencing batch reactors, SBR effluent equalization basin, three unit UV disinfection, one primary and two secondary aerobic sludge digesters, belt filter press, covered sludge storage, cascade reaeration, and effluent reuse through irrigation to publically-owned and private-owned sites. Grit and screenings are landfilled. Dewatered sludge (biosolids) is land applied. The proposed permit contains limits for biochemical oxygen demand, total suspended solids, ammonia, E. coli, whole effluent toxicity, and pH, as well as monitoring for total phosphorus, nitrate + nitrite, total Kjeldahl nitrogen, total nitrogen, mercury, priority pollutants, and flow.

Name and Address of Applicant Leavenworth, City of 100 N. 5th St. Leavenworth, KS 66048 Receiving Stream Type of Discharge Treated Domestic Wastewater

Kansas Permit No. M-MO12-IO01 Federal Permit No. KS0036366

Legal Description: SE¼, NW¼, NE¼ and NE¼, SW¼, NE¼, S1, T9S, R22E, Leavenworth County

Facility Name: Leavenworth Wastewater Treatment Plant Facility Location: 1800 S. 2nd St., Leavenworth, KS 66048

The proposed action is to reissue an existing State/NPDES permit for an existing facility. This facility is a mechanical wastewater treatment plant consisting of raw sewage pumping station, bar screen, aerated grit basin, primary settling basins, trickling filters, final settling basins, UV disinfection system, sludge pumping station, sludge storage tanks, and belt filter press. The proposed permit contains limits for biochemical oxygen demand, total suspended solids, E. coli, whole effluent toxicity, and pH, as well as monitoring for ammonia, total phosphorus, nitrate + nitrite, total Kjeldahl nitrogen, total nitrogen, priority pollutants, and flow.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Wellington, City of 317 S. Washington Ave.		Treated Domestic Wastewater
Wellington, KS 67152	Beaver Creek via Unnamed Tributary	

Kansas Permit No. M-AR92-OO02 Federal Permit No. KS0099571

Legal Description: NE¼, NW¼, SW¼ and NW¼, NE¼, SW¼, S24, T32S, R1W, Sumner County

Facility Name: Wellington Wastewater Treatment Facility

Facility Location: 1500 Botkin, Wellington, KS 67152

The proposed action is to reissue an existing State/NPDES permit for an existing facility. This facility is a mechanical wastewater treatment plant consisting of off-site and on-site raw wastewater pumping stations, drum screen headworks, BNR activated sludge treatment system, two final clarifiers, two UV disinfection units, cascade reaeration, two aerobic digesters, centrifuge dewatering with storage barn, and effluent holding pond. The proposed permit contains limits for biochemical oxygen demand, total suspended solids, ammonia, E. coli, whole effluent toxicity, and pH, as well as monitoring for total phosphorus, nitrate + nitrite, total Kjeldahl nitrogen, total nitrogen, sulfates total recoverable arsenic, priority pollutants, and flow.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Wichita, City of Sewer and Water Department	Arkansas River	Treated Domestic Wastewater
455 N. Main St. Wichita, KS 67202		

Kansas Permit No. M-AR94-IO01 Federal Permit No. KS0043036 Legal Description: Center, Section 27, T28S, R1E, Sedgwick County, KS Facility Name: Wichita Combined Wastewater Treatment Plant 1 and 2

Facility Location (Plant 2): 2305 E. 57th St. South, Wichita, KS 67216

The proposed action is to reissue an existing State/NPDES permit for an existing facility. This is a combined treatment plant consisting of the Plant 1 "Industrial Boulevard Facility" and Plant No. 2 "Lower Arkansas River Plant". Plant No. 1 has a main pump station for raw wastewater pumping, four mechanical bar screens and an extraneous flow holding basin. Flow from Plant No. 1 is pumped to Plant No. 2 for treatment. Plant No. 2. is a mechanical plant consisting of raw wastewater pumping, mechanical bar screens, grit chamber, primary clarification, combined settled wastewater pumping, trickling filters, clarification, screw pumps intermediate pumping station, activated sludge aeration basins, final clarification, UV disinfection, re-aeration, gravity belt sludge thickener, belt filter presses, anaerobic digestion sludge processing, dissolved air flotation sludge thickener, sludge screening facility, sludge storage building, biofilter odor control system, septage receiving station, and diversion of a portion of the effluent to Spirit AeroSystems. The proposed permit contains limits for biochemical oxygen demand, total suspended solids, ammonia, E. coli, dissolved oxygen, whole effluent toxicity, and pH, as well as monitoring for temperature, total phosphorus, nitrate + nitrite, total Kjeldahl nitrogen, total nitrogen, chlorides, total recoverable copper, total hardness, and flow.

Notice of Intent to Terminate

Pursuant to the requirements of K.A.R. 28-16-60 and K.A.R. 28-16-62, the Kansas Department of Health and Environment (KDHE) hereby provides notice of intent to terminate the following KDHE-issued permits.

	I	
Project/Facility	Project City	Document No.
The Fountains Extended Care– Phase 2	Andover	S-WA01-0041
Life Church	Augusta	S-WA03-0018
Pines at Pinehurst	Basehor	S-KS04-0024
Wolf Creek Junction-Phase 2	Basehor	S-KS04-0039
Country Place Senior Living	Basehor	S-KS04-0059
Beloit Optimization	Beloit	S-SO05-0005
North Park Soccer Field	Bonner Springs	S-KS06-0027
ZZZ Aqua, LLC	Burns	S-WA05-0002
Columbus SE Switching Station 94 Rebuild	Columbus	S-NE15-0013
Dollar General Retail Store	DeSoto	S-KS12-0030
Big Caney Site 18	Dexter	S-AR30-0004
Trans Coastal Supply, Inc.	Edgerton	S-MC08-0025
Grain Storage Facility formerly owned by Cargill, Inc.	Elkhart	S-CI04-0007
E Cambridge LLC Phase 2	Garden City	S-UA14-0077
Auburn Hills	Gardner	S-MC51-0019
Former Girard Zinc Works Smelter	Girard	S-NE31-0009
Former Cherokee–Lanyon #2 Smelter	Girard	S-NE31-0010
Ricken Acres	Goddard	S-AR37-0005
Goodland Energy Center	Goodland	S-UR09-0005
Logan Pointe Addition Unit No. 1	Herington	S-SH17-0006
Lot 7, Holton Industrial Park	Holton	S-KS23-0013
Borrow for U024-090 KS-0042-01	Hoxie	S-SO20-0020
Hutchinson Crossing	Hutchinson	S-AR49-0144
Rib Crib BBQ Restaurant	Hutchinson	S-AR49-0146
6-COF Whole Barracks Renewal (Ft. Riley)	Junction City	S-KS97-0056
Fegan Field Apartments	Junction City	S-KS97-0082

		Italisa
Project/Facility	Project City	Document No.
Fort Riley, Kansas–Renovation Bldg. 211	Junction City	S-KS97-0148
Sutter Highlands Subdivision	Junction City	S-LR15-0023
USF Dugan Truck Co.	Kansas City	S-KS27-0040
Copart Auto Auction	Kansas City	S-KS27-0098
Kansas Unified Development	J	
(Village West Pkwy at State Ave.)	Kansas City	S-KS27-0109
Kansas City, Kansas Paces Shelter	Kansas City	s-ks27-0203
Freddy's Frozen Custard	Lansing	S-MO11-0053
Stoneridge and Overland Drives	Lawrence	S-KS31-0133
Adam Williams Residence	Lawrence	S-KS31-0326
Fort Leavenworth	Leavenworth	S-MO12-0115
Commissary Add/Alter		
Crown Estates 2nd Ph. I	Leavenworth	S-MO12-0029
High Pointe at River Ridge Farms, 3rd Plat	Leawood	S-KS32-0016
Little Sunshine's Playhouse	Leawood	S-MO27-0051
Kesterson Soil Inc	Lenexa	S-KS34-0012
Woodland Ridge Presbyterian Church	Lenexa	S-KS34-0197
Coca-Cola Lenexa Distribution Center	Lenexa	S-KS34-0266
Covenant Place of Lenexa	Lenexa	S-KS34-0232
Tuttle Creek Dam Safety Assurance Project	Manhattan	S-KS38-0016
Flinthills Hospitality Hotels	Manhattan	S-KS38-0156
Independence Place Planned	Manhattan	S-KS38-0205
Unit Development Merriam Village	Merriam	S-KS44-0016
Line 69.103; Franklin to		
Mulberry and Line 161.09A; Litchfield to Marmaton Tap	Mulberry	S-MC27-0002
Sand Creek Station-Ph. III	Newton	S-LA13-0033
Persimmon Court 1st Plat	Olathe	S-KS52-0101
Grading at SW Corner of K10 and Ridgeview	Olathe	S-KS52-0193
St. Mark's Lutheran Church	Olathe	S-KS52-0279
Prairie Trail MS Addition	Olathe	S-KS52-0383
California Trail MS Addition	Olathe	S-KS52-0384
Chisolm Trail MS Additions	Olathe	S-KS52-0385
Family Video-Olathe, KS	Olathe	S-MO14-0144
Briar Patch Subdivision	Olathe	S-KS52-0158
Village of Forest Hills–1st Plat	Olathe	S-KS52-0183
I-35 Logistics Park	Olathe	S-KS52-0310
Overbrook North Facility	Overbrook	S-MC32-0004
River Ridge Farms West 2nd Plat	Overland Park	S-MO28-0060
Burger King	Overland Park	S-MO28-0242
Islamic Center of Johnson County	Overland Park	S-MO28-0243
Insight Properties	Overland Park	S-MO28-0291
Lakeshore Meadows–1st Plat	Overland Park	S-KS55-0163
Lakeshore Meadows-2nd Plat	Overland Park	S-KS55-0164
Ritz Charles Plaza	Overland Park	S-KS55-0174
Blue River 21, Contract 1, Phase 1 Sanitary Sewer Interceptor	Overland Park	S-KS55-0222
Corbin Park Building F3	Overland Park	S-KS55-0245
Mills Farm–1st Plat	Overland Park	S-MO28-0100
Pistol Range Closure	Parsons	S-NE55-0027
St. Francis Academy	Salina	S-SA20-0045
CVS Pharmacy Nec S. Ohio and E. Crawford	Salina	S-SH33-0131
Rib Crib BBQ Restaurant	Salina	S-SH33-0138
Contract 2009-1: Water	Sedan	S-VE33-0006

Distribution System

Project/Facility	Project City	Document No.
Can-Am Shawnee	Shawnee	S-KS68-0138
Garland Heights	Shawnee	S-KS68-0224
Cobblestone Court	Shawnee	S-KS68-0298
Woodland Ridge VI	Spring Hill	S-MC45-0071
College Creek FRD No. 2 Spillway	St. Marys	S-KS67-0008
Fitzsimmons Road and Jesuit Lane Improvements	St. Marys	S-KS67-0009
Urban Hess 4	Tonganoxie	S-KS71-0028
Fall Creek Villas	Tonganoxie	S-KS71-0002
Cornerstone Family Worship	Tonganoxie	S-KS71-0047
Brian's Addition No. 3	Topeka	S-KS72-0147
SE California Sidewalk Expansion	Topeka	S-KS72-0280
Briggs Auto Parking Lot Improvements	Topeka	S-KS72-0419
SW 37th StGage to Burlingame	Topeka	S-KS72-0460
Monarch Meadows Subdivision	Topeka	S-KS72-0043
Lauren's Bay Villas	Topeka	S-KS72-0199
Laurens Bay Dam Modification	Topeka	S-KS72-0312
Dollar General Store	Topeka	S-KS72-0355
Valley Center District Office #262	Valley Center	S-LA16-0029
Valley Center High School	Valley Center	S-LA16-0026
Wellington Retail	Wellington	S-AR92-0015
Southern Ridge 2nd Addition	Wichita	S-AR94-0252
Mid-Continent Water Quality Reclamation Facility	Wichita	S-AR94-0681
High Point West Addition	Wichita	S-AR94-0682
Comatara Detention Pond	Wichita	S-AR94-0758
Carol Jean 2nd Addition	Wichita	S-AR94-0760
Maize 54, LLC	Wichita	S-AR94-0902
CVS/Pharmacy SWC Harry and Hillside	Wichita	S-AR94-0990
Redbud Multi-Use Path	Wichita	S-AR94-1078
IAA Inc. Parking Lot Expansion	Wichita	S-AR94-1079
CVS/Pharmacy NWC 21st and Amidon	Wichita	S-AR94-0985
Castlegate Addition	Wichita	S-AR94-1111
Flats-342 Addition	Wichita	S-AR94-1248
Future Bound Office Building	Wichita	S-WA20-0029
Building Addition and Renovation/Track Renovation	Winchester	S-KS84-0007
Country Club Villas	Winfield	S-WA17-0022
Multiple Purpose Dam No. 29 Repairs	Winfield	S-WA17-0023

Proposed Action: The Kansas Department of Health and Environment (KDHE) issued Authorizations for stormwater discharges under of the Construction Stormwater General Permit for the above named projects. K.S.A. 65-166a requires the Secretary of KDHE to assess appropriate annual fees for Authorizations/Permits issued by the Department and provides that failure to pay the annual fee shall be cause for revocation/termination of the Authorization/Permit. The authorized entities named above have failed to comply with the requirement to pay the annual fee. Further, according to K.A.R. 28-16-62(f)-(g), the director has discretion to initiate termination of a permit. Therefore, pursuant to K.S.A. 65-166a, K.A.R. 28-16-60 and K.A.R. 28-16-62, KDHE is hereby providing notice of intent to terminate the Authorizations associated with the projects named herein. The entity may re-instate the Authorization by paying the appropriate annual fees. If you have any questions regarding the termination of your permit, please contact the Stormwater Coordinator.

(continued)

Persons wishing to comment on the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment if they wish to have the comments considered in the decision-making process. Comments should be submitted to the attention of the Livestock Waste Management Section for agricultural related draft documents or applications, or to the Technical Services Section for all other permits, at the Kansas Department of Health and Environment, Division of Environment, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612-1367.

All comments regarding the draft documents or application notices received on or before **November 11, 2017**, will be considered in the formulation of the final determinations regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-17-221/223, KS-AG-R-17-023, KS-Q-17-127/131) and name of the applicant/permittee when preparing comments.

After review of any comments received during the public notice period, the secretary of Health and Environment will issue a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC).

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the Kansas Department of Health and Environment, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, Kansas. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available on the Internet at http://www.kdheks.gov/feedlots. Division of Environment offices are open from 8:00 a.m. to 5:00 p.m., Monday through Friday, excluding holidays.

Susan Mosier, MD, MBA, FACS Secretary and State Health Officer

Doc. No. 045775

State of Kansas

Department of Health and Environment

Notice Concerning Proposed Kansas Air Quality Class I Operating Permit Renewal

Notice is hereby given that the Kansas Department of Health and Environment (KDHE) is soliciting comments regarding a proposed air quality operating permit. LINN Operating, Inc. has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards, and requirements applicable to each source; and the monitoring, record keeping, and reporting requirements applicable to each source as of the effective date of permit issuance.

LINN Operating, Inc., 2225 W. Oklahoma Ave., Ulysses, KS 67880, owns and operates Sublette Main Compressor Station located at Section 2, T29S, R33W, Sublette, Haskell County, KS.

A copy of the proposed permit, permit application, all supporting documentation, and all information relied upon during the permit application review process are available for public review during normal business hours of 8:00 a.m. to 5:00 p.m. at the KDHE, Bureau of Air (BOA), 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366 and at the Southwest District Office (SWDO), 302 W. McArtor Road, Dodge City, KS 67801-6098. To obtain or review the proposed permit and supporting documentation, contact Cathy Richardson, 785-296-1947, at the central office of the KDHE or Ethel Evans, 620-356-1075 at the SWDO. The standard departmental cost will be assessed for any copies requested.

Please direct written comments or questions regarding the proposed permit to Cathy Richardson, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received no later than noon Monday, November 13, 2017.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Cathy Richardson, KDHE BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366, no later than noon Monday, November 13, 2017 in order for the secretary of Health and Environment to consider the request.

The U.S. Environmental Protection Agency has a 45-day review period, which will start concurrently with the public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Ward Burns, U.S. EPA, Region 7, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, KS 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

Susan Mosier, MD, MBA, FACS Secretary and State Health Officer

Doc. No. 045769

State of Kansas

Department of Health and Environment

Notice Concerning Proposed Kansas Air Quality Class I Operating Permit Renewal

Notice is hereby given that the Kansas Department of Health and Environment (KDHE) is soliciting comments regarding a proposed air quality operating permit. Westar Energy, Inc. – Tecumseh Energy Center has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards, and requirements applicable to each source; and the monitoring, record keeping, and reporting requirements applicable to each source as of the effective date of permit issuance.

Westar Energy, Inc. – Tecumseh Energy Center, 818 S. Kansas Ave., PO Box 889, Topeka, KS 66601, owns and operates a power plant located at 5530 SE 2nd St., Topeka, KS 66542.

A copy of the proposed permit, permit application, all supporting documentation, and all information relied upon during the permit application review process are available for public review during normal business hours of 8:00 a.m. to 5:00 p.m. at the KDHE, Bureau of Air (BOA), 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366 and at the Northeast District Office (NEDO), 800 W. 24th St., Lawrence, KS 66046. To obtain or review the proposed permit and supporting documentation, contact Cathy Richardson, 785-296-1947, at the central office of the KDHE or Pat Simpson, 785-842-4600 at the NEDO. The standard departmental cost will be assessed for any copies requested.

Please direct written comments or questions regarding the proposed permit to Cathy Richardson, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received no later than noon Monday, November 13, 2017.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Cathy Richardson, KDHE BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366, no later than noon Monday, November 13, 2017 in order for the secretary of Health and Environment to consider the request.

The U.S. Environmental Protection Agency has a 45-day review period, which will start concurrently with the public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Ward Burns, U.S. EPA, Region 7, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, KS 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

Susan Mosier, MD, MBA, FACS Secretary and State Health Officer State of Kansas

Department of Agriculture Division of Water Resources

Notice of Hearing

Pursuant to K.S.A. 82a-1041, the Northwest Kansas Groundwater Management District No. 4 (GMD #4) has recommended the approval of a Local Enhanced Management Area (LEMA) Management Plan in a designated area in Cheyenne, Decatur, Rawlins, Gove, Graham, Logan, Sheridan, Sherman, Thomas, and Wallace counties and comprising the entire area within the boundaries of GMD #4 (GMD #4 LEMA). The LEMA Management Plan was submitted to the chief engineer for review and found to be acceptable for consideration.

An initial public hearing was held on August 23, 2017 in Colby, Kansas where it was determined the proposed LEMA Management Plan met one or more of the circumstances specified in K.S.A. 82a-1036(a) through (d), that it is in the public interest to require corrective control provisions, and that the geographic boundaries are reasonable. The initial order is available online at http://agriculture.ks.gov/lema.

Since the initial hearing officer found the three issues set forth in K.S.A. 82a-1041 are satisfied, the chief engineer shall hold a second public hearing to determine if the corrective controls proposed in the LEMA Management Plan shall be accepted, rejected, or if modifications should be proposed. This second public hearing shall take place on November 14, 2017 and will begin at 9:00 a.m. at the City Limits Convention Center, 2227 S. Range, Colby, KS 67701 (Exit 53 on I-70). The hearing may continue as long as necessary for a full disclosure of relevant facts.

The chief engineer shall serve as hearing officer to determine if the area should be designated and if GMD #4's proposed LEMA plan for the area should be adopted. Anyone may submit written or oral statements to be included in the record of this hearing. Oral statements will be accepted only at the public hearing. Written statements may be submitted at the public hearing or be sent to the GMD #4 LEMA; c/o Ronda Hutton; 1320 Research Park Drive, Manhattan, KS 66502, faxed to 785-564-6777, or emailed to ronda.hutton@ks.gov. Written comments will be accepted if delivered on or before Tuesday, November 28, 2017. The proposed LEMA Management Plan may be viewed online at http://agriculture.ks.gov/lema.

David W. Barfield, P.E., Chief Engineer Division of Water Resources

Doc. No. 045768

(Published in the Kansas Register October 12, 2017.)

City of Fredonia, Kansas

Notice of Intent to Seek Private Placement General Obligation Bonds, Series A, 2017

Notice is hereby given that the City of Fredonia, Kansas (the "Issuer") proposes to seek a private placement of the above-referenced bonds (the "Bonds"). The maximum aggregate principal amount of the Bonds shall not (continued)

Doc. No. 045770

exceed \$2,000,000. The proposed sale of the Bonds is in all respects subject to approval of a bond purchase agreement between the Issuer and the purchaser of the Bonds, the passage of an ordinance and adoption of a resolution by the governing body authorizing the issuance of the Bonds and the execution of various documents necessary to deliver the Bonds.

Dated October 2, 2017.

Michael Ohrt City Administrator/Clerk

Doc. No. 045778

(Published in the Kansas Register October 12, 2017.)

Riley County, Kansas

Summary Notice of Bond Sale \$1,920,000* General Obligation Refunding Bonds Series 2017

Details of the Sale

Subject to the terms and requirements of the Official Notice of Bond Sale, dated September 25, 2017 (the "Notice"), prepared by Riley County, Kansas (the "County"), bids to purchase the County's General Obligation Refunding Bonds, Series 2017, (the "Bonds") will be received at the office of the County Clerk at the County Courthouse, 110 Courthouse Plaza, Manhattan, KS 66502, until 9:00 a.m. (CDT) Thursday, October 26, 2017 in the manner described in the Notice. The bids will be considered by the governing body at its meeting held at 10:00 a.m. (CDT) on the sale date.

No oral or auction bids for the Bonds shall be considered, and no bids for less than 100 percent of the total principal amount of the Bonds and accrued interest to the date of delivery shall be considered.

Good Faith Deposit

Bidders must submit a good faith deposit in an amount equal to 2% of the principal amount of the Bonds using one of the methods described in the Notice.

Details of the Bonds

The Bonds will be dated November 15, 2017 and will be issued as registered bonds in denominations of \$5,000, or any integral multiple thereof. Interest on the Bonds is payable semiannually on March 1 and September 1 of each year, beginning March 1, 2018. Principal of the Bonds becomes due on September 1 in the years and amounts as shown below:

Maturity Schedule

Principal Amount*	Maturity Date	Principal Amount*	Maturity Date
\$305,000	2018	\$250,000	2022
295,000	2019	175,000	2023
295,000	2020	175,000	2024
245,000	2021	180.000	2025

Payment of Principal and Interest

The Treasurer of the State of Kansas will serve as the Bond Registrar and Paying Agent for the Bonds.

Book-Entry Bonds

The Bonds will be issued and registered under a book-entry-only system administered by The Depository Trust Company, New York, New York ("DTC").

Delivery of the Bonds

The County will prepare the Bonds at its expense and will deliver the registered Bonds to DTC on or about November 15, 2017. Any bond printing costs will be paid by the County from the proceeds of the Bonds or other County funds.

Legal Opinion

The Bonds will be sold subject to the legal opinion of Triplett Woolf Garretson, LLC, Wichita, Kansas, Bond Counsel, whose fees will be paid by the County.

Financial Matters

The County's current assessed valuation for purposes of calculating statutory debt limitations is \$663,256,014. As of November 15, 2017, the County's total outstanding general obligation debt (including the Bonds), is \$5,167,000. The County's total indebtedness which is subject to debt limitation, as of November 15, 2017, is estimated to be \$754,367.15, which is 0.11% of the assessed valuation of the County.

Additional Information

For additional information contact the County Clerk at the address and telephone number shown below, or the Financial Advisor, Greg Vahrenberg, Piper Jaffray, 11635 Rosewood St., Leawood, Kansas 66211, telephone 913-345-3274.

> Riley County, Kansas Rich Vargo, County Clerk County Courthouse 110 Courthouse Plaza Manhattan, KS 66502 785-537-6300 Fax: 785-537-6394

*Principal Amount Subject to Change. Doc. No. 045777

(Published in the Kansas Register October 12, 2017)

Wabaunsee County, Kansas

Summary Notice of Bond Sale \$930,000* General Obligation Bonds Series 2017a

(General obligation bonds payable from unlimited ad valorem taxes)

Bids

Subject to the Official Notice of Bond Sale and Preliminary Official Statement dated October 13, 2017, bids will be received on behalf of the County Clerk of Wabaunsee County, Kansas, (the "Issuer") at the offices of the Issuer, Wabaunsee County Courthouse, 215 Kansas, Alma, KS 66401, in the case of sealed bids, via facsimile at 785-765-3704, or in the case of electronic bids, via PARITY® electronic bid submission system until 11:00 a.m. (CDT) on October 23, 2017, for the purchase of General Obligation

Bonds, Series 2017A, in the aggregate principal amount of \$930,000* (the "Bonds"). No bid of less than 100% of the aggregate principal amount of the Bonds, plus accrued interest, if any, thereon to the date of delivery will be considered and no supplemental interest payments will be considered.

Bond Details

The Bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. The Bonds will initially be registered in the name of Cede & Co., as nominee of the Depository Trust Company, New York, New York, to which payments of principal of and interest on the Bonds will be made. Individual purchases of bonds will be made in book-entry form only. Purchasers will not receive certificates representing their interest in bonds purchased. The Bonds will be dated November 15, 2017, and will become due on October 1, in the years as follows:

V	Principal	Year	Principal
Year	Amount*		Amount*
2018	\$40,000	2026	\$65,000
2019	55,000	2027	65,000
2020	55,000	2028	65,000
2021	60,000	2029	70,000
2022	60,000	2030	70,000
2023	60,000	2031	70,000
2024	60,000	2032	75,000
2025	60,000		

The Bonds will be subject to mandatory and optional redemption prior to maturity as provided in the Official Notice of Bond Sale and Preliminary Official Statement.

The Bonds will bear interest from the date thereof at rates to be determined when the Bonds are sold as hereinafter provided, which interest will be payable semiannually on April 1 and October 1 in each year, beginning on April 1, 2018.

Paying Agent and Bond Registrar

The Kansas State Treasurer, Topeka, Kansas, is designated as the Paying Agent and Bond Registrar.

Good Faith Deposit

Each bid shall be accompanied by a cashier's or certified check drawn on a bank located in the United States of America, a wire transfer, or a qualified financial surety bond in the amount of \$18,600 (2 percent of the principal amount of the Bonds).

Delivery

The Issuer will pay for printing the Bonds and will deliver the same properly prepared, executed, and registered to the facilities of the Depository Trust Company, Jersey City, New Jersey, without cost to the successful bidder within 45 days after the date of sale.

Assessed Valuation and Indebtedness

The total assessed valuation of taxable tangible property in the County for the year 2017 is \$91,501,863. The total general obligation bonded indebtedness of the Issuer is \$3,280,000, following the issuance of the Bonds.

Approval of Bonds

The Bonds will be sold subject to the legal opinion of Nichols and Wolfe Chartered, Topeka, Kansas, bond

counsel, whose approving legal opinion as to the validity of the Bonds, will be furnished and paid for by the Issuer and delivered to the successful bidder as and when the Bonds are delivered.

Additional Information

Additional information regarding the Bonds may be obtained from the County Clerk, 785-765-3414, or from the financial advisor, Piper Jaffray & Co., 11635 Rosewood St., Leawood, KS 66211-2200, 913-345-3374.

Dated October 4, 2017.

Wabaunsee County, Kansas Jennifer Savage, County Clerk Wabaunsee County Courthouse 215 Kansas Alma, Kansas 66401 785-765-3414

*Preliminary; subject to change Doc. No. 045766

State of Kansas

Kansas Lottery

Temporary Administrative Regulations

Article 4.—INSTANT GAMES AND DRAWINGS

111-4-3501. "Star Trek" instant ticket lottery game number 777. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Star Trek." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3501.

(b) The "play symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
05	FIV
06	SIX
07	SEV
08	EGT
09	NIN
10	TEN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
	/ 1

(continued)

2.4	THE TOP
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
Symbol of a planet	DBL

Prize Symbols	Captions
FREE	TICKET
\$5.00	FIVE\$
$10^{.00}$	TEN\$
$15^{.00}$	FIFTEEN
25.00	TWEN-FIV
$50^{.00}$	FIFTY
75.00	SVTYFIV
\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$5000	FIVTHOU
\$30000	30-THOU

- (c) For this game, a play/prize symbol shall appear in 45 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
- (e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (f) The "Star Trek" ticket is a key number match game with a doubler feature. A player will remove the scratch-off material to reveal five "WINNING NUMBERS" and 20 "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBERS" If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the corresponding prize. If a player reveals a "PLANET" symbol, the player wins double the prize amount shown.
 - (g) Each ticket in this game may win up to 20 times.
- (h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

		Expected Number of	Expected Value
	Prize	Prizes in Game	in Game
Free Ticket	Free Ticket	20,000	\$0
\$5	\$5	32,000	160,000
\$10	\$10	8,000	80,000
\$5 DBL	\$10	9,070	90,700
\$5 + \$5	\$10	8,000	80,000
\$15	\$15	4,000	60,000
\$5 + \$10	\$15	2,000	30,000
\$5 DBL + \$5	\$15	5,000	75,000
(\$5 x 3)	\$15	4,800	72,000
\$25	\$25	700	17,500
(\$10 x 2) + \$5	\$25	800	20,000
\$10 DBL + \$5	\$25	800	20,000
(\$5 x 5)	\$25	800	20,000
\$50	\$50	160	8,000
(\$5 x 10)	\$50	180	9,000
\$25 DBL	\$50	240	12,000
\$10 + \$25 + \$15	\$50	200	10,000
\$75	\$75	80	6,000
(\$5 x 15)	\$75	100	7,500
\$25 DBL + \$10 + \$15	\$75	100	7,500
(\$5 x 11) + \$10 DBL	\$75	100	7,500
\$100	\$100	20	2,000
$(\$5 \times 14) + (\$10 \times 3)$	\$100	20	2,000
(\$10 x 10)	\$100	20	2,000
(\$5 x 20)	\$100	30	3,000
\$50 DBL	\$100	30	3,000
\$500	\$500	6	3,000
(\$10 x 10) + (\$25 x 4) +			
(\$50 x 6)	\$500	8	4,000
(\$10 x 10) + (\$75 x 2) +	*=00		
(\$100 DBL + \$50	\$500	8	4,000
\$1,000	\$1,000	4	4,000
(\$25 x 10) + (\$50 x 5) +	¢1 000	4	4.000
(\$100 x 5)	\$1,000	$rac{4}{4}$	4,000
\$500 DBL	\$1,000		4,000
(\$100 x 10)	\$1,000	4	4,000
\$5,000	\$5,000	1	5,000
$(\$500 \times 6) + (\$1,000 \times 2)$	\$5,000	1	5,000
\$30,000	\$30,000	2	60,000
Second-chance drawing	\$20,000	1	20,000
Player Loyalty Program		1	9,310
TOTAL		<u>97,294</u>	<u>\$931,010</u>

- (j) The odds of winning a prize in this game are approximately one in 3.08. (Authorized by K.S.A. 2016 Supp. 74-8710; implementing K.S.A. 2016 Supp. 74-8710, and 74-8720; effective, T-111-8-28-17, July 12, 2017; amended, T-111-9-21-17, Aug. 9, 2017.)
- **111-4-3502.** "Holiday Sparkle" instant ticket lottery game number 772. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Holiday Sparkle." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3502.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play and Prize Symbols	Captions
FREE	TICKET
\$1.00	ONE\$

\$2.00	TWO\$
$$4^{.00}$	FOUR\$
\$5.00	FIVE\$
10.00	TEN\$
20.00	TWENTY
$40.^{00}$	FORTY
\$100	ONE-HUN
\$1000	ONETHOU
Symbol of a tree	DBL

- (c) For this game, a play/prize symbol shall appear in nine play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (f) The "Holiday Sparkle" ticket is a match three-of-six game with a doubler feature. A player will remove the scratch-off material to reveal nine prize amounts. If a player reveals three matching prize amounts, the player wins that amount. If a player reveals two matching prize amounts and a "TREE" symbol, the player wins double that amount.
 - (g) Each ticket in this game may win up to one time.
- (h) Approximately 1,500,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free Ticket	Free Ticket	100,000	\$0
\$1	\$1	200,000	200,000
\$2	\$2	50,000	100,000
\$1 DBL	\$2	67,650	135,300
\$4	\$4	20,000	80,000
\$2 DBL	\$4	25,000	100,000
\$10	\$10	4,000	40,000
\$5 DBL	\$10	4,000	40,000
\$20	\$20	1,500	30,000
\$10 DBL	\$20	2,000	40,000
\$40	\$40	350	14,000
\$20 DBL	\$40	350	14,000
\$100	\$100	250	25,000
\$1,000	\$1,000	40	40,000
Second-chance drawing	\$1,000	1	1,000
Player Loyalty Program	\$8,680	1	8,680
TOTAL		<u>475,142</u>	\$867,980

- (j) The odds of winning a prize in this game are approximately one in 3.16. (Authorized by K.S.A. 2016 Supp. 74-8710; implementing K.S.A. 2016 Supp. 74-8710, and 74-8720; effective, T-111-9-21-17, Aug. 9, 2017.)
- **111-4-3503.** "Holiday Shine" instant ticket lottery game number 773. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Holiday Shine." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3503.
- (b) The "play symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
05	FIV
06	SIX
07	SEV
08	EGT
09	NIN
10	TEN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
Symbol of a gift	DBL

Prize Symbols	Captions
FREE	TICKET
\$2.00	TWO\$
\$4.00	FOUR\$
\$5.00	FIVE\$
10.00	TEN\$
$25.^{00}$	TWEN-FIV
50.00	FIFTY
\$100	ONE-HUN
\$1000	ONETHOU
\$10000	10-THOU

- (c) For this game, a play/prize symbol shall appear in 33 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.
- (f) The "Holiday Shine" ticket is a key number match game with a doubler feature. A player will remove the scratch-off material to reveal three "WINNING NUMBERS" and 15 "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the corresponding prize. If a player reveals a "GIFT" symbol, the player wins double the prize amount shown.

(continued)

FIFTN

SIXTN

SEVTN

EGTN

NINTN

TWNTY

TWYONE

TWYTWO

TWYTHR

TWYFOR

TWYFIV

TWYSIX

TWYSEV

TWYEGT

TWYNIN

THRTY **THRONE**

THRTWO

THRTHR

THRFOR

THRFIV

THRSIX

THRSEV

THREGT

THRNIN

FORTY

FRYONE

FRYTWO

FRYTHR

FRYFOR

FRYFIV

FRYSIX

FRYSEV

FRYEGT

FRYNIN

FIFTY

FTYONE

FTYTWO

FTYTHR

FTYFOR

FTYFIV

FTYSIX

FTYSEV

FTYEGT

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31 32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

- (g) Each ticket in this game may win up to 15 times.
- (h) Approximately 750,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free Ticket	Free Ticket	100,000	\$0
\$2	\$2	60,000	120,000
\$4	\$4	12,500	50,000
\$2 DBL	\$4	17,500	70,000
\$5	\$5	20,000	100,000
\$10	\$10	3,150	31,500
\$5 DBL	\$10	4,250	42,500
(\$2 x 5)	\$10	3,250	32,500
\$4 DBL + \$2	\$10	4,250	42,500
\$25	\$25	1,750	43,750
(\$5 x 5)	\$25	1,750	43,750
\$10 DBL + \$5	\$25	2,180	54,500
\$50	\$50	500	25,000
$(\$5 \times 8) + \10	\$50	600	30,000
$(\$4 \times 10) + (\$2 \times 5)$	\$50	600	30,000
\$25 DBL	\$50	600	30,000
\$100	\$100	35	3,500
(\$50 x 2)	\$100	35	3,500
$(\$5 \times 10) + (\$25 \times 2)$	\$100	35	3,500
(\$10 x 10)	\$100	50	5,000
\$1,000	\$1,000	10	10,000
(\$25 x 4) + \$50 DBL +			
$(\$50 \times 4) + (\$100 \times 6)$	\$1,000	10	10,000
\$10,000	\$10,000	5	50,000
Second-chance drawing	\$5,000	1	5,000
Player Loyalty Program	\$8,449	1	8,449
TOTAL		233,062	\$844,949

- (j) The odds of winning a prize in this game are approximately one in 3.22. (Authorized by K.S.A. 2016 Supp. 74-8710; implementing K.S.A. 2016 Supp. 74-8710, and 74-8720; effective, T-111-9-21-17, Aug. 9, 2017.)
- 111-4-3504. "Holiday Treasures" instant ticket lottery game number 774. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Holiday Treasures." The rules for this game are contained in K.A.R. 111-3-1 et seq. and 111-4-3504.
- (b) The "play symbols" and "captions" for this game are as follows:

s tollows:		59	FTYNIN
Play Symbols	Captions	60	SIXTY
03	THR	2X	2TIMES
04	FOR	5X	5TIMES
06	SIX		
07	SEV	Prize Symbols	Captions
08	EGT	FREE	TICKET
09	NIN	\$5.00	FIVE\$
10	TEN	10.00	TEN\$
11	ELVN	15.00	FIFTEEN
12	TWLV	25.00	TWEN-FIV
13	THRN	50.00	FIFTY
14	FRTN		

75. ⁰⁰	SVTYFIV
\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$5000	FIVTHOU
\$25000	25-THOU

- (c) For this game, a play/prize symbol shall appear in 45 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
- (e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (f) The "Holiday Treasures" ticket is a key number match game with "2X" and "5X" multipliers. A player will remove the scratch-off material to reveal five "WIN-NING NUMBERS" and 20 "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the corresponding prize. If a player reveals a "2X" symbol, the player wins double the prize amount shown. If a player reveals a "5X" symbol, the player wins five times the amount shown.
 - (g) Each ticket in this game may win up to 20 times.
- (h) Approximately 360,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 120,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free Ticket	Free Ticket	24,000	\$0
\$5	\$5	40,170	200,850
\$10	\$10	9,000	90,000
\$5 (2X)	\$10	11,220	112,200
\$5 + \$5	\$10	9,900	99,000
\$15	\$15	4,800	72,000
\$5 + \$10	\$15	6,600	99,000
\$5 (2X) + \$5	\$15	7,800	117,000
\$25	\$25	900	22,500
\$10 (2X) + \$5	\$25	1,200	30,000
\$5 (5X)	\$25	1,200	30,000
(\$5 x 5)	\$25	900	22,500
\$50	\$50	210	10,500
\$10 (5X)	\$50	300	15,000
(\$25 x 2)	\$50	210	10,500
\$10 (2X) + \$25 + \$5	\$50	300	15,000
\$75	\$75	120	9,000
(\$5 x 15)	\$75	120	9,000
\$10 + \$15 + \$5 (5X) + (\$5 x 5)	\$75	120	9,000
(\$5 x 11) + \$10 (2X)	\$75	120	9,000
\$100	\$100	60	6,000
(\$5 x 16) + \$10 (2X)	\$100	60	6,000
\$15 (5X) + \$15 + \$10	\$100	60	6,000
\$500	\$500	12	6,000
(\$10 x 5) + (\$25 x 12) + (\$50 x 3) (\$10 x 10) + (\$75 x 2) + \$50 +	\$500	12	6,000
\$100 (2X)	\$500	12	6,000

\$1,000	\$1,000	3	3,000
\$500 + (\$100 x 5)	\$1,000	3	3,000
\$500 + (\$50 x 10)	\$1,000	6	6,000
(\$100 x 10)	\$1,000	3	3,000
\$5,000	\$5,000	3	15,000
$(\$500 \times 6) + (\$1,000 \times 2)$	\$5,000	3	15,000
\$25,000	\$25,000	3	75,000
Second-chance drawing	\$10,000	1	10,000
Player Loyalty Program	11,172	1	11,172
TOTAL		119,432	\$1,159,222

- (j) The odds of winning a prize in this game are approximately one in 3.01. (Authorized by K.S.A. 2016 Supp. 74-8710; implementing K.S.A. 2016 Supp. 74-8710, and 74-8720; effective, T-111-9-21-17, Aug. 9, 2017.)
- 111-4-3505. "Holiday Greetings" instant ticket lottery game number 775. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Holiday Greetings." The rules for this game are contained in K.A.R. 111-3-1 et seq. and 111-4-3505.
- (b) The "play symbols" and "captions" for this game are as follows:

Captions

Play Symbols

They Symbols	cuptions
01	ONE
02	TWO
03	THR
04	FOR
06	SIX
07	SEV
08	EGT
09	NIN
10	TEN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
	(co

(continued)

ETYNIN

NINTY

5TIMES

DBL

75-THOU

89

90

5X

Symbol of a snowflake

\$75000

37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
45	FRYFIV
46	FRYSIX
47	FRYSEV
48	FRYEGT
49	FRYNIN
51	FTYONE
52	FTYTWO
53	FTYTHR
54	FTYFOR FTYSIX
56	
57	FTYSEV
58	FTYEGT
59	FTYNIN
60	SIXTY
61	SXYONE
62	SXYTWO
63	SXYTHR
64	SXYFOR
65	SXYFIV
66	SXYSIX
67	SXYSVN
68	SXYEGT
69	SXYNIN
70	SEVNTY
71	SEVONE
72	SEVTWO
73	SEVTHR
74	SEVFOR
75	SEVFIV
76	SEVSIX
77	SEVSVN
78	SEVEGT
79	SEVNIN
80	EIGHTY
81	ETYONE
82	ETYTWO
83	ETYTHR
84	ETYFOR
85	ETYFIV
86	ETYSIX
87	ETYSVN
88	ETYEGT

mbol of a candy cane	TPL
Prize Symbols	Captions
FREE	TICKET
$10.^{00}$	TEN\$
$15.^{00}$	FIFTEEN
$20.^{00}$	TWENTY
$25.^{00}$	TWEN-FIV
$50.^{00}$	FIFTY
75. ⁰⁰	SVTYFIV
\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU

- (c) For this game, a play/prize symbol shall appear in 115 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.
- (e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.
- (f) The "Holiday Greetings" ticket consists of five play areas or games and two bonus winning numbers that can be used in any of the five play areas. In the "HAPPY HOLIDAYS" play area, a player will remove the scratch-off material to reveal five "WINNING NUMBERS" and 22 "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the corresponding prize. A player can win up to 22 times in this play area.

In the "HOLIDAY FUN" play area (left side), a player will remove the scratch-off material to reveal two "WINNING NUMBERS" and six "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If a player matches any of the "YOUR NUMBERS" to either of the "WINNING NUMBERS," the player wins the corresponding prize. A player can win up to six times in this play area.

In the "HOLIDAY FUN" play area (right side), a player will remove the scratch-off material to reveal two "WIN-NING NUMBERS" and six "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If a player matches any of the "YOUR NUMBERS" to either of the "WINNING NUMBERS," the player wins the corresponding prize. A player can win up to six times in this play area.

In the "HOLIDAY CASH" play area (top area), a player will remove the scratch-off material to reveal two "WINNING NUMBERS" and eight "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If a player matches any of the "YOUR NUMBERS" to either of the "WINNING NUMBERS," the player wins the corresponding prize. If a player reveals a "SNOWFLAKE" symbol, the player wins double the prize shown below that symbol. A player can win up to eight times in this play area.

In the "HOLIDAY CASH" play area (bottom area), a player will remove the scratch-off material to reveal two "WINNING NUMBERS" and eight "YOUR NUMBERS" with a prize amount shown below each "YOUR NUM-BER." If a player matches any of the "YOUR NUMBERS" to either of the "WINNING NUMBERS," the player wins the corresponding prize. If a player reveals a "CANDY CANE" symbol, the player wins triple the prize shown below that symbol. A player can win up to eight times in this play area.

In the bonus winning numbers area, a player will remove the scratch-off material to reveal two "BONUS WINNING NUMBERS." If a player matches either "BO-NUS WINNING NUMBER" to any of the "YOUR NUM-BERS" on any one of the five games, the player wins the prize amount shown instantly for that number. A player can use the "BONUS WINNING NUMBERS" on any game on the ticket.

- (g) Each ticket in this game may win up to 52 times.
- (h) Approximately 250,020 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 250,020 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free Ticket	Free Ticket	30,000	\$0
\$10	\$10	29,000	290,000
\$15	\$15	15,000	225,000
\$20	\$20	3,915	78,300
\$10 DBL	\$20	3,340	66,800
\$10 + \$10	\$20	3,750	75,000
\$25	\$25	4,250	106,250
\$10 + \$15	\$25	4,250	106,250
\$50	\$50	400	20,000
\$10 TPL + \$20	\$50	560	28,000
\$10 (5X)	\$50	500	25,000
$(\$10 \times 3) + \20	\$50	500	25,000
\$25 DBL	\$50	560	28,000
(\$10 x 5)	\$50	500	25,000
\$75	\$75	200	15,000
\$25 TPL	\$75	300	22,500
\$10 (5X) + \$25	\$75	300	22,500
\$25 DBL + \$15 + \$10	\$75	300	22,500
(\$10 x 6) + \$15	\$75	200	15,000
\$100	\$100	100	10,000
\$20 TPL + \$25 + \$15	\$100	125	12,500
\$20 (5X)	\$100	125	12,500
$(\$15 \times 4) + (\$10 \times 4)$	\$100	100	10,000
\$50 DBL	\$100	126	12,600
(\$10 x 10)	\$100	100	10,000
\$500	\$500	17	8,500
\$75 TPL + (\$10 x 20) +			
$($20 \times 3) + 15	\$500	20	10,000
(\$10 x 40) + (\$15 x 5) + \$25	\$500	20	10,000
(\$10 x 25) + (\$25 x 7) + \$15 (5X)	\$500	20	10,000
\$100 TPL + (\$50 x 3) +			,
\$25 DBL	\$500	20	10,000

\$1,000

3

\$1,000

(\$75 x 3) + \$500 + (\$25 x 7) +			
\$20 (5X)	\$1,000	4	4,000
\$500 DBL	\$1,000	4	4,000
(\$10 x 28) + (\$20 x 11) +			
$($25 \times 6) + ($50 \times 3) +$			
$(\$100 \times 2)$	\$1,000	5	5,000
\$75,000	\$75,000	3	225,000
Second-chance drawing	\$15,000	1	15,000
Player Loyalty Program	\$15,841	1	15,841
TOTAL		98,619	\$1,584,041

- (j) The odds of winning a prize in this game are approximately one in 2.54. (Authorized by K.S.A. 2016 Supp. 74-8710; implementing K.S.A. 2016 Supp. 74-8710, and 74-8720; effective, T-111-9-21-17, Aug. 9, 2017.)
- 111-4-3506. "Kickoff Cash" instant ticket lottery game number 778. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Kickoff Cash." The rules for this game are contained in K.A.R. 111-3-1 et *seq.* and 111-4-3506.
- (b) The "play symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
03	THR
04	FOR
05	FIV
06	SIX
07	SEV
08	EGT
09	NIN
10	TEN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
2X	DBL
Prize Symbols	Captions
FREE	TICKET
\$2.00	TWO\$
\$4 ^{.00}	FOUR\$
54	FOUR\$

(continued)

3,000

\$5.00	FIVE\$
10.00	TEN\$
25.00	TWEN-FIV
50.00	FIFTY
\$100	ONE-HUN
\$1000	ONETHOU
\$10000	10-THOU

- (c) For this game, a play/prize symbol shall appear in 33 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.
- (f) The "Kickoff Cash" ticket is a key number match game with a doubler feature. A player will remove the scratch-off material to reveal three "WINNING NUMBERS" and 15 "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the corresponding prize. If a player reveals a "2X" symbol, the player wins double the prize amount shown.
 - (g) Each ticket in this game may win up to 15 times.
- (h) Approximately 450,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

J	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free Ticket	Free Ticket	60,000	\$0
\$2	\$2	36,000	72,000
\$4	\$4	7,500	30,000
\$2 DBL	\$4	10,500	42,000
\$5	\$5	12,000	60,000
\$10	\$10	1,890	18,900
\$5 DBL	\$10	2,550	25,500
(\$2 x 5)	\$10	1,950	19,500
\$4 DBL + \$2	\$10	2,550	25,500
\$25	\$25	1,050	26,250
(\$5 x 5)	\$25	1,050	26,250
\$10 DBL + \$5	\$25	1,332	33,300
\$50	\$50	300	15,000
(\$5 x 8) + \$10	\$50	360	18,000
$(\$4 \times 10) + (\$2 \times 5)$	\$50	360	18,000
\$25 DBL	\$50	360	18,000
\$100	\$100	30	3,000
(\$50 x 2)	\$100	27	2,700
(\$5 x 10) + (\$25 x 2)	\$100	30	3,000
(\$10 x 10)	\$100	30	3,000
\$1,000	\$1,000	6	6,000
(\$25 x 4) + \$50 DBL +	\$1,000	6	6,000
(\$50 x 4) + (\$100 x 6)			
\$10,000 Playor Loyalty Program	\$10,000	3 1	30,000
Player Loyalty Program TOTAL	\$5,069		5,069 \$506,069
IOIAL		139,885	\$506,969

(j) The odds of winning a prize in this game are ap-

proximately one in 3.22. (Authorized by K.S.A. 2016 Supp. 74-8710; implementing K.S.A. 2016 Supp. 74-8710, and 74-8720; effective, T-111-9-21-17, Aug. 9, 2017.)

Article 19.—SPECIFIC PLAYER LOYALTY CLUB RULES

- **111-19-22.** Star Trek drawing. (a) The Kansas lottery may conduct a "Star Trek" drawing awarding four grand prize packages to players selected as winners. Entries into the drawing will be accepted beginning at 5:00 a.m. on October 1, 2017. Entry deadline is 12:00 p.m. on February 12, 2018. The drawing will be conducted sometime after the entry into the drawing has closed but before 12:00 p.m. on February 15, 2018, after which time the winners will be announced.
- (b) The specific ticket eligible for entry into this drawing shall be the \$5 Star Trek, game number 777.
- (c) A player shall enter the drawing through the Kansas lottery PlayOn program available at www.kslottery.com. The player shall follow the hyperlink specifically designated for the purpose of accessing the "Star Trek" drawing. The player may enter the required data from the instant ticket manually for entry into the drawing. If the player does not enter the ticket data manually, the player may scan, if available, the ticket to enter data to be used for entry into the drawing using a mobile device and a downloaded Kansas Lottery PlayOn app. After the ticket data is successfully entered either manually or scanned using an app, the player will receive one entry into the second-chance drawing.
- (d) Four entrants shall win prize packages in the drawing. Twelve entrants shall be selected in the drawing, with the first four entrants drawn, numbers 1 through 4, being the prize package winners. The next eight entrants selected, numbers 5 through 12, shall be used as alternate winners in the order drawn, if needed.
- (e) Each prize package shall consist of economy airfare for two adults from an international airport in the state of Kansas to Las Vegas, Nevada; hotel accommodations for five nights at the Rio Suites Hotel in Las Vegas, Nevada; round trip car service between the airport and hotel; tickets for two to a Star Trek convention on dates and location to be determined, and \$1,000 spending money.
 - (f) Each prize package is valued at approximately \$5,000.
- (g) A player may enter the drawing an unlimited number of times, but may win only one prize package in this promotion.
- (h) A player who is selected as a prize winner in the drawing will be sent a claim form via U.S. mail. The winner must return his or her completed claim form, and the claim form must be received by the Kansas lottery within 14 days following the date of the online event drawing. In the event an alternate winner is awarded a prize, the winner must return his or her completed claim form and the claim form must be received by the Kansas lottery within 14 days following the date the alternate winner was sent a claim form via U.S. mail.
- (i) In the event any prize awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions or other compensation shall be provided. No cash substitute is available for this prize.

- (j) Only registered PlayOn members may enter the "Star Trek Drawing." PlayOn members must enter themselves into the drawing according to the terms and conditions of PlayOn. Entries shall not be accepted which are submitted by any method other than through PlayOn.
- (k) By entering the promotion, entrant agrees to Play-On terms and conditions.
- (l) Rules applicable to this promotion are contained in K.A.R. 111-19-22 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-9-21-17, Aug. 9, 2017.)

111-19-23. Holiday Luck instant ticket promotion.

- (a) The Kansas lottery may conduct four drawings entitled "Holiday Luck Instant Ticket Promotion" awarding cash prizes to players selected as winners. Entries into the drawings will be accepted beginning at 5:00 a.m. on October 17, 2017. Entry deadline into the drawings is noon on January 17, 2018. The drawings will be conducted sometime after the entry into the drawings has closed but before 12:00 p.m. on January 19, 2018, after which time the winners will be announced.
- (b) The specific tickets eligible for entry into these drawings shall be non-winning tickets for the following games: \$1 "Holiday Sparkle," game number 772; \$2 "Holiday Shine," game number 773; \$5 "Holiday Treasures," game number 774; and \$10 "Holiday Greetings," game number 775.
- (c) There shall be one drawing conducted for each of the four instant ticket games listed in subsection (b).
- (d) A player shall enter a drawing by accessing an interactive game and entering a code in the interactive game. The name of the non-winning ticket held by the player shall be the same name of the interactive game accessed to enter the drawing. A player shall access the appropriate interactive game through the Kansas Lottery PlayOn program available on mobile devices and at www.kslottery.com. The player shall follow the hyperlink specifically developed for the purpose of accessing the "Holiday Luck Instant Ticket Promotion." The player may enter the required data from the instant ticket manually for entry into the drawing. If the player does not enter the ticket data manually, the player may scan, if available, the ticket to enter data to be used for entry into the drawing using a mobile device and a downloaded Kansas lottery PlayOn app. After the ticket data is successfully entered either manually or scanned using an app, the player will receive one entry into the second-chance drawing.
- (e) Each drawing shall select six entrants. The first entrant selected in each drawing shall be the winner of a cash prize. The next five entrants selected, numbers 2 through 6, shall serve as alternates in the order drawn, if needed.
- (f) The first drawing conducted shall be from among the entrants in the \$1 Holiday Sparkle, game number 772, second-chance drawing. The cash prize awarded to the first entrant selected in the first drawing shall be \$1,000. The second drawing conducted shall be from among the entrants in the \$2 Holiday Shine, game number 773, second-chance drawing. The cash prize awarded to the first entrant selected in the second drawing shall be \$5,000. The third drawing conducted shall be from among the

- entrants in the \$5 Holiday Treasures, game number 774, second-chance drawing. The cash prize awarded to the first entrant selected in the third drawing shall be \$10,000. The fourth drawing conducted shall be from among the entrants in the \$10 Holiday Greetings, game number 775, second-chance drawing. The cash prize awarded to the first entrant selected in the fourth drawing shall be \$15,000.
- (g) A player may enter each drawing an unlimited number of times. A player can win an unlimited number of times in this promotion.
- (h) A player who is selected as a prize winner in the drawings will be sent a claim form via U.S. mail. The winner must return his or her completed claim form, and the claim form must be received by the Kansas lottery within 20 days following the date of the online event drawing. In the event an alternate winner is awarded a prize, the winner must return his or her completed claim form and the claim form must be received by the Kansas lottery within 20 days following the date the alternate winner was sent a claim form via U.S. mail.
- (i) Only registered PlayOn members may enter the "Holiday Luck Instant Ticket Promotion." PlayOn members must enter themselves into the drawings according to the terms and conditions of PlayOn. Entries shall not be accepted which are submitted by any method other than through PlayOn.
- (k) By entering the promotion, entrant agrees to Play-On terms and conditions.
- (l) Rules applicable to this promotion are contained in K.A.R. 111-19-23 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-9-21-17, Aug. 9, 2017.)

Article 401.—NORTHEAST GAMING ZONE

- **111-401-107.** Method of play. (a) Three Card Poker Progressive is played with a standard deck of 52 cards, no jokers, with backs the same color and design. The rank of the cards used in three card poker, in order of highest to lowest rank, shall be: ace, king, queen, jack, 10, 9, 8, 7, 6, 5, 4, 3, and 2. All suits shall be considered equal in rank. Notwithstanding the foregoing, an ace may be used to complete a "straight flush" or a "straight" with a two and three.
- (b) The permissible poker hands in the game of three card poker, in order of highest to lowest rank, shall be:
- (1) "Straight flush" or "three card straight flush" is a hand consisting of three cards of the same suit in consecutive ranking, with ace, king, and queen being the highest ranking straight flush and three, two and ace being the lowest ranking straight flush.
- (2) "Three-of-a-kind" is a hand consisting of three cards of the same rank, regardless of suit, with three aces being the highest ranking three-of-a-kind and three twos being the lowest ranking three-of-a-kind.
- (3) "Straight" or "three card straight" is a hand consisting of three cards of consecutive rank, regardless of suit, with ace, king and queen being the highest ranking straight and three, two and ace being the lowest ranking straight.

(continued)

- (4) "Flush" or "three card flush" is a hand consisting of three cards of the same suit, regardless of rank.
- (5) "Pair" is a hand consisting of two cards of the same rank, regardless of suit, with two aces being the highest ranking pair and two twos being the lowest ranking pair.
- (6) "High card" is the highest ranking card when no higher ranking hand or card exists.
- (c) The permissible poker hands in the optional six card bonus wager, in order of highest to lowest rank, shall be as follows:
- (1) "Royal flush" is a hand consisting of an ace, king, queen, jack and ten, all of the same suit;
- (2) "Straight flush" is a hand consisting of five cards all of the same suit and in consecutive ranking;
- (3)"Four-of-a-kind" is a hand consisting of four cards of the same rank, regardless of suit;
- (4) "Full house" is a hand consisting of a "three of a kind" and a "pair" (two cards of the same rank, regardless of suit);
- (5) "Flush" is a hand consisting of five cards of the same suit, regardless of rank;
- (6) "Straight" is a hand consisting of five cards of consecutive rank, regardless of suit; and,
- (7) "Three-of-a-kind" is a hand consisting of three cards of the same rank, regardless of suit.
- (d) A player who has made a winning six card bonus wager shall only receive the payout for the highest ranking five-card poker hand that can be formed with the cards of the player and dealer.
- (e) A six card bonus wager shall have no bearing upon the outcome of any other wager made by a player at the game of three card poker, and no other wager made by a player at the game of three card poker shall have any bearing upon the outcome of a six card bonus wager made by a player. (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-2-9-12, Dec. 14, 2011; amended, T-111-9-21-17, Aug. 9, 2017.)
- **111-401-108.** Physical characteristics, gaming equipment, and table. (a) The game of Three Card Poker Progressive is played on a table consisting of five to seven betting areas on a table layout approved by the lottery.
 - (b) Each betting area will contain:
 - (1) An area for a pair plus wager,
 - (2) An area for an ante wager,
 - (3) An area for a play wager,
 - (4) An area for a progressive wager; and,
- (5) An area for a six card bonus wager. (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-2-9-12, Dec. 14, 2011; amended, T-111-9-21-17, Aug. 9, 2017.)
- **111-401-211.** Name of the game; rules and regulations. The Kansas lottery shall conduct a lottery facility game at the Hollywood Casino at Kansas Speedway in Kansas City, Kansas, entitled "Bonus Spin Blackjack" beginning on or after September 1, 2017.

The rules and regulations for the game of "Bonus Spin Blackjack" are contained in K.A.R. 111-401-211 through 111-401-216, and applicable generic rules are contained in K.A.R. 111-201-1 *et seq.* (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-9-21-17, Aug. 9, 2017.)

111-401-212. Object of game and method of play.

- (a) The object of the primary game for the "Bonus Spin Blackjack" game is to have the total point value of the player's hand exceed the total point value of the dealer's hand without going over a total point value of 21.
- (b) The game of "Bonus Spin Blackjack" offers an optional bonus spin side wager.
- (c) All table games utilizing cards will be dealt from a dealing shoe or shuffling device. (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-9-21-17, Aug. 9, 2017.)
- **111-401-213.** Characteristics of the game. (a) The game "Bonus Spin Blackjack" shall be played on a table consisting of five to seven individual betting areas.
- (b) The game of "Bonus Spin Blackjack" is played on a layout approved by the lottery that is similar to a blackjack layout with an additional betting area for the bonus spin wager. (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-9-21-17, Aug. 9, 2017.)
- **111-401-214. Definitions.** The following definitions when pertaining to the game of "Bonus Spin Blackjack" shall have the following meanings unless the context clearly indicates otherwise:
- (a) "Blackjack" shall mean an ace and any card having a point value of 10 dealt as the initial two cards to a player or a dealer, except that this shall not include an ace and a ten point value card dealt to a player who has split pairs.
- (b) "Burn" or "burning" a card shall mean to remove a card from play.
- (c) "Dealer" shall mean the person responsible for dealing the cards.
- (d) "Discard rack" shall mean the receptacle into which cards are placed after each round of decisions is rendered in a game.
 - (e) "Flush" shall mean three cards in the same suit.
- (f) "Hard total" shall mean the total point count of a hand which contains no aces or which contains one or more aces that are each counted as having one point in value.
- (g) "Push" or "tie" shall mean the player does not lose or win the hand played.
- (h) "Shoe" shall mean the receptacle into which cards are placed to be held for dealing to the players and dealer.
- (i) "Soft total" shall mean the total point count of a hand containing an ace when the ace is counted as having 11 points in value. (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-9-21-17, Aug. 9, 2017.)
- **111-401-215.** Wagers and payout odds. (a) Minimum and maximum wagers will be posted on a sign at each table.
- (b) Maximum table payouts, if any, will be posted at each table and will not be less than the maximum wager times the maximum odds.
- (c) If a player has been permitted to wager less than the table minimum, the dealer will take or pay the amount actually wagered. If a player has been permitted to wager more than the table maximum, the excess will be returned to the player and the dealer will pay the correct

- odds on the posted maximum amount. The player will be informed of the table minimum or maximum for subsequent wagers.
- (d) A player may play two hands at double the table minimum per hand not to exceed the table maximum. A player may play three hands at five times the table minimum, per hand, not to exceed the table maximum. Exceptions to this rule are permitted if approved by the pit manager, casino shift manager, or higher ranking casino official.
- (e) The following describes a list of permissible wagers, payout odds, and what constitutes a win, loss, or tie:
 - (1) Original wagers:
- (A) An original wager will be made by the player prior to the first card of the hand being dealt.
- (B) An additional original wager may be made as a tip for the dealer.
- (C) An original wager will win if the total point value of the player's cards exceeds the total point value of the dealer's cards without exceeding a total point value of 21. In the event the player's first two cards have a total point value 21, the player will have a blackjack.
- (D) An original wager will lose if the total point value of the player's cards exceeds 21 or is lower than the total point value of the dealer's cards.
- (E) An original wager will tie ("push") if the total point value of the player's cards is equivalent to the total point value of the dealer's cards. A blackjack beats a hand with a total point value of 21 that uses the point value three or more cards.
- (F) When a player's hand consists of a blackjack, the winning hand will be paid out at a rate of 3 to 2. All winning original wagers, except hands consisting of a blackjack, will be paid out at the rate of 1 to 1.
 - (2) Insurance wager:
- (A) An insurance wager is a one-time wager in an amount up to one-half of the original wager that may be taken when the dealer has an ace for his up card (the first card dealt to the dealer, which card is dealt face up). An insurance wager will be made prior to the dealer looking at the hole card (the second card dealt to the dealer, which card is dealt face down).
- (B) An additional insurance wager may be made as a tip for the dealer.
- (C) An insurance wager will win at the rate of 2 to 1 if the dealer has a blackjack.
- (D) An insurance wager will lose if the dealer does not have a blackjack.
 - (3) Double down wager:
- (A) An additional wager made by the player up to the amount of the player's original wager on the condition only one additional card will be dealt to the player. This wager can be made on any hand consisting of two cards including after splitting, except that the wager may not be made after splitting aces.
- (B) An additional double down wager may be made as a tip for the dealer only if the player has made an original wager for the dealer.
- (C) A double down wager will win if the total point value of the player's cards exceeds the total point value of the dealer's cards without exceeding a total point value of 21.

- (D) A double down wager will lose if the total point value of the player's cards exceeds 21 or is less than the total point value of the dealer's cards.
- (E) A double down wager will tie ("push") if the player's hand and the dealer's hand are of equal total point value.
- (F) A winning double down wager will be paid at the rate of 1 to 1.
 - (4) Split wager:
- (A) An additional wager made when a player's initial two cards are of the same face value provided the player makes a wager equal to the original wager. A player may split up to three times for a total of four hands. A player may double down after splitting with the exception of after splitting aces. A player will only receive one additional card after splitting aces.
- (B) A split wager will win if the total point value of the player's cards exceeds the total point value of the dealer's cards without exceeding a total point value of 21.
- (C) A split wager will lose if the total point value of the player's cards exceeds 21 or is less than the total point value of the dealer's cards.
- (D) A split wager will tie ("push") if the player's hand and the dealer's hand are of equal total point value.
- (E) A winning split wager will be paid at the rate of 1 to 1.
- (F) An additional split wager may be made as a tip for the dealer only if the player has made an original wager for the dealer.
 - (5) Bonus spin wagers:
- (A) An optional \$5 bonus spin wager may be made by the player prior to the first card of the hand being removed from the shoe in an area designated for the bonus spin wager. The player must make an original blackjack wager in order to place the bonus spin wager.
- (B) A bonus spin wager will win if one of the player's first two cards is an ace or if the player is dealt a blackjack on their first two cards.
- (C) A bonus spin wager will lose if at least one of the first two cards dealt to a player's hand is not an ace.
- (6) Winning bonus spin wagers will be paid out as follows:
- (A) When at least one of the player's original two cards is an ace but the player's original hand is not a blackjack, the hand will be paid at a rate of 1 to 1.
- (B) When the player's original two cards are a blackjack, the player will be allowed to press the bonus spin button to activate the spin of the bonus wheel. The player will win the prize amount located directly beneath the bonus prize indicator on the bonus wheel. The player's original \$5 wager is collected as the prize is paid. The possible prizes on the bonus wheel will be \$25,000, \$5,000, \$2,500, \$1,000, \$500, \$250, \$100, \$80, \$75, \$60, \$55 or \$40.
- (C) All bonus spin wagers will be taken or paid before the blackjack portion of the game continues. (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-9-21-17, Aug. 9, 2017.)
- **111-401-216.** Play. (a) After the cards have been shuffled, the dealer shall offer the stack of cards to a player to be cut. The player may cut the cards by placing a (continued)

cutting card provided by the dealer. The cut card must be placed in the stack so there are no fewer than 52 cards on either side of the cut card for a six deck game or no fewer than 26 cards on either side of the cut card for a double deck game.

- (b) At the commencement of each round of play, the dealer shall, starting on the dealer's left and continuing around the table, deal the cards in the following order:
- (1) One card face upwards to each box on the blackjack layout in which a wager is contained;
 - (2) One card face upwards to the dealer; and,
- (3) A second card face upwards to each position in which a wager is contained.
- (4) A second card face down to the dealer and placed underneath the dealer's up card (card dealt face up).
- (c) After two cards have been dealt to each player and the dealer, the dealer shall, take or pay all bonus spin wagers as provided in K.A.R. 111-401-215.
- (d) After all bonus spin wagers have been taken or paid, the dealer shall, beginning from the dealer's left, have each player indicate whether they wish to double down, split, stand or draw.
- (e) As each player indicates the player's decision(s), the dealer shall deal whatever additional cards, if any, are necessary to effectuate such.
- (f) After the decision(s) of each player have been implemented and all additional cards have been dealt, the dealer shall expose the dealer's hole card. Any additional cards authorized to be dealt to the hand of the dealer shall be dealt face up.
- (g) If the dealer has a blackjack, no additional cards shall be dealt and each player's wager shall be settled.
 - (h) Payment of blackjack shall be made as follows:
- (1) If the first face up card dealt to the dealer is a 2, 3, 4, 5, 6, 7, 8, or 9 and a player has a blackjack, the dealer shall pay the blackjack at odds of 3 to 2 and shall remove that player's cards. If the first face up card dealt to the dealer is a king, queen, jack or 10, the dealer shall check the dealer's hole card for an ace. If the dealer's hole card does not give the dealer a blackjack, the player having a blackjack shall be paid at odds of 3 to 2. If the dealer's hole card gives the dealer a blackjack, the wager of the player having a blackjack shall be void and constitute a "push" or a "tie."
- (2) Whenever the first card dealt to the dealer is an ace, each player shall have the right to make an insurance bet which, except as otherwise provided herein, shall win if the dealer's hole card is a king, queen, jack or 10 and shall lose if the dealer's hole card is an ace, 2, 3, 4, 5, 6, 7, 8, or 9. An insurance bet may be made by placing on the insurance line of the layout an amount not more than half the amount staked on the player's initial wager. After all insurance wagers have been placed, the dealer will check the dealer's hole card for blackjack. If the dealer has a blackjack, the dealer will collect all of the losing original wagers and pay all insurance wagers at odds of 2 to 1. The wager of a player having the blackjack shall be void and constitute a "push" or a "tie." If the dealer does not have a blackjack, the dealer will immediately collect all of the losing insurance wagers. When a player has a blackjack, the player may take even money for the player's wager instead of making an insurance wager. In

such circumstances, the dealer shall pay the wager at 1 to 1 odds before checking the dealer's hole card and shall remove that player's cards.

- (3) A player may elect to double down, which means to make an additional wager not in excess of the amount of the player's original wager on the first two cards dealt to the player on the condition that one and only one additional card shall be dealt to the hand on which the player has elected to double down. If a dealer obtains a blackjack after a player doubles down, the dealer shall only collect the amount of the original wager of such player and shall not collect the additional amount wagered in doubling down. Upon a player's election to double down, the dealer shall deal the player's hand one additional card. In the alternative, if the additional card is dealt face down, such card shall be turned face upward prior to paying or taking the wager. A double down wager shall win if the total of the player's cards exceeds the total of the dealer's cards without exceeding a total of twenty-one (21). A double down wager shall push or tie if the player's hand and the dealer's hand are equal. A double down wager shall lose if the total of the player's cards exceeds twenty-one (21) or is less than the total of the dealer's cards. A double down wager shall be paid at the rate of 1:1 on both the original wager and the double down portion of the wager.
- (i) If the initial two cards dealt to a player are identical in value, the player may elect to split the hand into two separate hands provided that the player makes a wager equal to the player's original wager. When a player splits pairs, the dealer shall deal a card to and complete the player's decisions with respect to the first incomplete hand on the dealer's left before proceeding to deal any cards to any other hand. After a second card is dealt to a split pair, the player shall indicate his decision to stand or draw with respect thereto except that:
- (A) A player may split pairs a maximum of three times to make a total of four hands; and
- (B) A player splitting aces shall only have one card dealt to each ace and may not elect to receive additional cards
- (j) A player may elect to draw one or more additional cards whenever the player's point count total is less than 21 except that:
- (1) A player electing to double down shall draw only one additional card;
- (2) A player splitting aces shall only have one card dealt to each ace and may not elect to receive additional cards.
- (k) A dealer shall draw additional cards to the dealer's hand until the dealer has:
- (1) A hard total of 17, 18, 19, 20, or 21, whichever comes first; or
- (2) A soft total of 18, 19, 20, or 21, whichever comes first. A dealer shall draw no additional cards to the dealer's hand, regardless of the point count, if decisions have been made on all players' hands and the point count of the dealer's hand will have no effect on the outcome of the round of play. A split bet shall win if the total of the player's cards exceeds the total of the dealer's cards without exceeding a total of twenty-one (21). A split bet shall lose if the total of the player's cards exceeds twenty-one (21) or is less than the total of the dealer's cards. A split

bet shall tie or push if the player's hand and the dealer's hand are equal. A split bet shall be paid at the rate of 1:1 on both the original wager and the split wager.

- (l) A card drawn in error without its face being exposed shall be used as though it were the next card from the shoe.
 - (m) If the dealer has a hard total of 17 and accidentally

5-

draws a card for the dealer, such card shall be burned (taken out of play). (Authorized by K.S.A. 2016 Supp. 74-8710 and 74-8748; implementing K.S.A. 2016 Supp. 74-8710; effective, T-111-9-21-17, Aug. 9, 2017.)

> Terry P. Presta **Executive Director**

Doc. No.045772

INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended and revoked administrative regulations and the volume and page number of the Kansas Register issue in which more information can be found. Temporary regulations are designated with a (T) in the Action column. This cumulative index supplements the 2009 Volumes of the Kansas Administrative Regulations and the 2016 Supplement of the Kansas Administrative Regulations.

AGENCY 1: DEPARTMENT OF ADMINISTRATION

Reg. No.	Action	Register
1-2-74	Amended	V. 35, p. 1093
1-6-23	Amended	V. 35, p. 1093
1-9-7b	Amended	V. 36, p. 1089
1-9-23	Amended	V. 35, p. 1094
1-14-8	Amended	V. 35, p. 1096
1-14-10	Amended	V. 35, p. 1097
1-16-4	Amended	V. 35, p. 44
1-16-8	Amended	V. 35, p. 44
1-16-15	Amended	V. 35, p. 45
1-16-18	Amended	V. 35, p. 45
1-16-18a	Amended	V. 35, p. 46
1-39-1		
through		
1-39-4	Revoked	V. 36, p. 8

AGENCY 4: DEPARTMENT OF AGRICULTURE

Reg. No.	Action	Register
4-2-3	Amended	V. 36, p. 1088
4-2-8	Amended	V. 36, p. 1088
4-2-17a	Revoked	V. 36, p. 1088
4-2-21	New	V. 36, p. 1088
4-5-1	Revoked	V. 35, p. 238
4-5-2	Revoked	V. 35, p. 238
4-5-4	New	V. 35, p. 238

AGENCY 5: DEPARTMENT OF AGRICULTURE-DIVISION OF WATER RESOURCES

Reg. No. 5-1-1 5-3-6a 5-5-9 5-5-10 5-5-16 5-12-1 5-14-10 5-14-12 5-21-3 5-21-6 5-22-7 5-23-4	Action Amended	Register V. 35, p. 308 V. 36, p. 159 V. 36, p. 1036 V. 36, p. 1037 V. 35, p. 313 V. 36, p. 823 V. 36, p. 1038 V. 36, p. 825 V. 36, p. 160 V. 35, p. 199 V. 35, p. 385
5-22-7 5-23-4 5-23-4b	Amended Amended Revoked	V. 35, p. 199 V. 35, p. 385 V. 35, p. 386

-24-2	Amended	V. 35, p. 386
-25-21	New	V. 35, p. 200
AGENO	Y 7: SECRETAR	Y OF STATE

Reg. No.	Action	Register
7-23-16	New (T)	V. 35, p. 662

AGENCY 9: DEPARTMENT OF AGRICULTURE-DIVISION OF ANIMAL HEALTH

Reg. No.	Action	Register
9-3-9	Amended	V. 36, p. 140
9-3-10	Amended	V. 36, p. 140
9-7-4	Amended	V. 35, p. 428
9-7-4a	New	V. 35, p. 428
9-10-33a	Amended	V. 36, p. 1038
9-10-40	New	V. 36, p. 1038
9-18-31	New	V. 35, p. 313
9-26-1	Revoked	V. 35, p. 314
9-27-1	Amended	V. 35, p. 695

AGENCY 16: ATTORNEY GENERAL

Reg. No.	Action	Register
16-9-1	Revoked	V. 35, p. 1033
16-14-10	New (T)	V. 35, p. 626
16-14-10	New	V. 35, p. 858
16-14-11	New (T)	V. 35, p. 626
16-14-11	New	V. 35, p. 858
16-15-1		
through		
16-15-4	New (T)	V. 35, p. 626-628
16-15-1		•
through		
16-15-4	New	V. 35, p. 858-860
16-16-1	New	V. 35, p. 1033
16-16-2	New	V. 35, p. 1033
16-16-3	New	V. 35, p. 1033

AGENCY 28: DEPARTMENT OF HEALTH AND ENVIRONMENT

Reg. No.	Action	Register
28-4-114a	Amended	V. 36, p. 364
28-4-118	Amended	V. 36, p. 365
28-4-428	Amended	V. 36, p. 366
28-4-428a	Amended	V. 36, p. 366
28-4-587	Amended	V. 36, p. 571
28-4-592	Amended	V. 36, p. 573
28-4-802	Revoked	V. 36, p. 973
28-17-10	Amended	V. 35, p. 566
28-17-11	Revoked	V. 35, p. 567
28-17-20	Amended	V. 35, p. 567
28-19-11	Amended	V. 35, p. 930
28-19-300	Amended	V. 35, p. 954
28-19-304	Amended	V. 35, p. 955
28-54-1		•
through		
28-54-5	Amended	V. 36, p. 939-940
28-71-1		. 1
through		
28-71-12	Amended V	V. 36, p. 1052-1055
28-74-1	New	V. 35, p. 383
28-74-2	New	V. 35, p. 383
28-74-3	New	V. 35, p. 383

28-74-4 New V. 35, p. 384 AGENCY 30: KANSAS DEPARTMENT FOR CHILDREN AND FAMILIES

Reg. No.	Action	Register
30-44-2	Amended	V. 35, p. 63
30-44-6	New	V. 35, p. 63
30-46-10	Amended	V. 35, p. 581
30-47-3	New	V. 36, p. 973

AGENCY 40: KANSAS INSURANCE DEPARTMENT

40-1-37 Amended V. 36, p. 9	18
40-1-37 Amerided V. 30, p. 9	
40-1-48 Amended V. 36, p. 9	19
40-2-18 Amended V. 35, p. 4	05
40-4-34 Amended V. 35, p. 33	84
40-4-35 Amended V. 36. p. 99	72
40-4-41 Amended V. 35, p. 6	33
40-4-42a Amended V. 36, p. 9.	54

AGENCY 44: DEPARTMENT OF CORRECTIONS

Reg. No.	Action	Register
44-12-301	Amended (T)	V. 35, p. 742
44-12-301	Amended	V. 35, p. 898

AGENCY 49: DEPARTMENT OF LABOR

Reg. No.	Action	Register
49-55-1	Amended (T)	V. 36, p. 842
49-55-1	Amended	V. 36, p. 1106
49-55-2	Amended (T)	V. 36, p. 842
49-55-2	Amended	V. 36, p. 1106
49-55-3	Revoked (T)	V. 36, p. 842
49-55-3	Revoked	V. 36, p. 1106
49-55-4	Amended (T)	V. 36, p. 842
49-55-4	Amended	V. 36, p. 1106
49-55-5	Revoked (T)	V. 36, p. 842
49-55-5	Revoked	V. 36, p. 1107
49-55-6	Amended (T)	V. 36, p. 842
49-55-6	Amended	V. 36, p. 1107
49-55-8	Amended (T)	V. 36, p. 842
49-55-8	Amended	V. 36, p. 1107
49-55-11	Amended (T)	V. 36, p. 843
49-55-11	Amended	V. 36, p. 1107
49-55-12	Amended (T)	V. 36, p. 843
49-55-12	Amended	V. 36, p. 1107
49-55-13	New (T)	V. 36, p. 843
49-55-13	New	V. 36, p. 1107

AGENCY 51: DEPARTMENT OF LABOR-DIVISION OF WORKERS COMPENSATION

Action

Reg. No.

51-9-7	Amended	V. 35, p. 1046					
AGENCY 60: BOARD OF NURSING							
Reg. No.	Action	Register					
60-2-101	Amended	V. 35, p. 322					
60-3-102	Amended	V. 35, p. 323					
60-3-103	Amended	V. 35, p. 323					
60-3-110	Amended	V. 35, p. 323					
60-3-113	Amended	V. 35, p. 324					

Register

					-			
60-4-101	Amended	V. 36, p. 369	74-5-201			91-42-3	New	V. 35, p. 487
60-7-102	Amended	V. 35, p. 324				91-42-4	Amended	V. 36, p. 617
			through	۱ ـ ا ـ ـ ـ ـ ـ ۸	V 25 90			
60-7-106	Amended	V. 35, p. 324	74-5-203	Amended	V. 35, p. 89	91-42-5	New	V. 35, p. 488
60-9-105	Amended	V. 35, p. 325	74-5-301	Amended	V. 35, p. 90	91-42-6	New	V. 35, p. 489
60-9-106	Amended	V. 35, p. 326	74-5-401	Amended	V. 35, p. 90	91-42-7	Amended	V. 36, p. 618
60-17-102	Amended	V. 35, p. 327	74-5-403	Amended	V. 35, p. 90	ACENO	CY 92: DEPAI	ETMENT OF
ACENCY	61: BOARD OF	RARRERING	74-5-405a	Amended	V. 35, p. 90	AGEIN	REVENU	
AGENCI	UI. DOARD OF	DARDERING	74-5-406	Amended	V. 35, p. 90		KEVENU	E
Reg. No.	Action	Register	74-5-407	Amended	V. 35, p. 91	Reg. No.	Action	Register
61-1-24	Amended	V. 35, p. 991	74-11-6	Amended	V. 35, p. 91	92-23-9		O
61-3-2	Amended	V. 35, p. 991	74-11-7	Amended	V. 35, p. 91	through		
61-3-3	Amended	V. 35, p. 991	74-15-1	Amended	V. 35, p. 92	92-23-23	Revoked	V. 35, p. 63, 64
61-3-5	Amended		7-15-1	Milchaea	v. 55, p. 72			
		V. 35, p. 991	AGENCY	82: STATE CO	RPORATION	92-23-25	Revoked	V. 35, p. 64
61-3-7	Amended	V. 35, p. 384		COMMISSIO	ON	92-23-30	Revoked	V. 35, p. 64
61-3-20	Amended	V. 35, p. 991				92-23-31	Revoked	V. 35, p. 64
61-4-2	Amended	V. 35, p. 991	Reg. No.	Action	Register	92-23-37		
61-7-1	Revoked	V. 35, p. 385	82-4-1	Amended	V. 35, p. 357	through		
61-7-2	New	V. 35, p. 385	82-4-2a	Amended	V. 35, p. 359	92-23-40	Revoked	V. 35, p. 64
A CENICY	CC BOARD OF	TECHNICAL	82-4-3h	Amended	V. 35, p. 359	92-23-41		•
AGENCY	66: BOARD OF		82-4-3i	Amended	V. 35, p. 360	through		
	PROFESSION	NS	82-4-3j	Amended	V. 35, p. 362	92-23-59	New	V. 35, p. 64-67
Reg. No.	Action	Register	82-4-3k	Amended	V. 35, p. 363	92-23-70	TVCVV	v. 55, p. 64 67
66-6-1				Amended				
00-0-1	Amended	V. 35, p. 455	82-4-3n		V. 35, p. 364	through	NT	V 05 (5 (0
AGEN	ICY 67: KANSA	S BOARD	82-4-3o	Amended	V. 35, p. 366	92-23-75	New	V. 35, p. 67, 68
	XAMINERS IN		82-4-8a	Revoked	V. 35, p. 366	92-57-1		
	ISPENSING OI		82-4-20	Amended	V. 35, p. 366	through		
TIND D	INSTRUMEN		82-16-1	Amended	V. 36, p. 102	92-57-5	New	V. 36, p. 843, 844
	INSTRUMEN	15	82-16-2	Amended	V. 36, p. 103	A CENI	CV/00 DEDAI	TATELIT OF
Reg. No.	Action	Register	82-16-3	Revoked	V. 36, p. 103		CY 93: DEPAI	
67-2-4	Amended	V. 36, p. 80	82-16-4	Amended	V. 36, p. 103	REVENUE		OF PROPERTY
67-5-5	Amended	V. 36, p. 81	82-16-5	Revoked	V. 36, p. 103		VALUATIO	ON
			82-16-6	Amended	V. 36, p. 103	Reg. No.	Action	Register
AGENCY	68: BOARD OF	PHARMACY	02-10-0	Amended	v. 50, p. 105	93-6-3		
Dag Ma	Action	Doniston	AGI	ENCY 86: REAL	ESTATE	93-0-3	Amended	V. 35, p. 357
Reg. No.		Register		COMMISSIO	ON	AGI	ENCY 100: BC	OARD OF
68-1-1b	Amended	V. 35, p. 695					HEALING A	
68-1-1f	Amended	V. 35, p. 696	Reg. No.	Action	Register			
68-1-1g	Revoked	V. 35, p. 696	86-1-2	Revoked	V. 35, p. 928	Reg. No.	Action	Register
	N. T	X7.0F (0/	0/1/	D 1 1		100.00 1	New	V. 35, p. 353
68-5-18	New	V. 35, p. 696	86-1-4	Revoked	V. 35, p. 929	100-28a-1a	INEW	v. 33, p. 333
68-5-18 68-7-10	New Amended		86-1-4 86-1-5	Revoked Amended				
68-7-10	Amended	V. 35, p. 697	86-1-5	Amended	V. 36, p. 159	100-28a-6	Amended	V. 35, p. 353
68-7-10 68-7-22	Amended New	V. 35, p. 697 V. 35, p. 427	86-1-5 86-2-8	Amended Revoked	V. 36, p. 159 V. 35, p. 929	100-28a-6 100-28a-9	Amended Amended	V. 35, p. 353 V. 35, p. 354
68-7-10 68-7-22 68-7-23	Amended New New (T)	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822	86-1-5 86-2-8 86-3-19	Amended Revoked Amended	V. 36, p. 159 V. 35, p. 929 V. 35, p. 929	100-28a-6 100-28a-9 100-28a-9a	Amended Amended New	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354
68-7-10 68-7-22 68-7-23 68-7-23	Amended New New (T) New	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017	86-1-5 86-2-8 86-3-19 86-3-26a	Amended Revoked Amended Amended	V. 36, p. 159 V. 35, p. 929 V. 35, p. 929 V. 35, p. 929	100-28a-6 100-28a-9 100-28a-9a 100-28a-10	Amended Amended New Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2	Amended New New (T) New Amended	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30	Amended Revoked Amended Amended Revoked	V. 36, p. 159 V. 35, p. 929 V. 35, p. 929 V. 35, p. 929 V. 35, p. 929	100-28a-6 100-28a-9 100-28a-9a 100-28a-10 100-28a-11	Amended Amended New Amended Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3	Amended New New (T) New Amended New	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699	86-1-5 86-2-8 86-3-19 86-3-26a	Amended Revoked Amended Amended	V. 36, p. 159 V. 35, p. 929 V. 35, p. 929 V. 35, p. 929	100-28a-6 100-28a-9 100-28a-9a 100-28a-10 100-28a-11 100-28a-12	Amended Amended New Amended Amended Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2	Amended New New (T) New Amended	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31	Amended Revoked Amended Amended Revoked New	V. 36, p. 159 V. 35, p. 929 V. 35, p. 929	100-28a-6 100-28a-9 100-28a-9a 100-28a-10 100-28a-11 100-28a-12 100-28a-13	Amended Amended New Amended Amended Amended Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3	Amended New New (T) New Amended New New	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31	Amended Revoked Amended Amended Revoked New Y 88: BOARD C	V. 36, p. 159 V. 35, p. 929 V. 35, p. 929	100-28a-6 100-28a-9 100-28a-9a 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-14	Amended Amended New Amended Amended Amended Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3	Amended New New (T) New Amended New New SENCY 69: BOA	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31	Amended Revoked Amended Amended Revoked New	V. 36, p. 159 V. 35, p. 929 V. 35, p. 929	100-28a-6 100-28a-9 100-28a-9a 100-28a-10 100-28a-11 100-28a-12 100-28a-13	Amended Amended New Amended Amended Amended Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3	Amended New New (T) New Amended New New	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC ' Reg. No. 88-3-8a	Amended Revoked Amended Amended Revoked New Y 88: BOARD C	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444	100-28a-6 100-28a-9 100-28a-9a 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-15 100-28a-15	Amended Amended New Amended Amended Amended Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3	Amended New New (T) New Amended New New SENCY 69: BOA	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC ' Reg. No. 88-3-8a	Amended Revoked Amended Amended Revoked New Y 88: BOARD C	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444	100-28a-6 100-28a-9 100-28a-9a 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-15 100-28a-15	Amended Amended New Amended Amended Amended Amended Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AC	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC ' Reg. No. 88-3-8a 88-24-2	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended	V. 36, p. 159 V. 35, p. 929 V. 35, p. 929 PF REGENTS Register	100-28a-6 100-28a-9 100-28a-9a 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-14 100-28a-15 100-28a-17 100-29-9	Amended New Amended Amended Amended Amended Amended Amended Amended Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AC Reg. No. 69-11-1	Amended New New (T) New Amended New New OSENCY 69: BOA COSMETOLO Action Amended	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC ' Reg. No. 88-3-8a 88-24-2 88-28-1	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444	100-28a-6 100-28a-9 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-14 100-28a-15 100-28a-17 100-29-9 100-29-16	Amended New Amended Amended Amended Amended Amended Amended Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AC Reg. No. 69-11-1 69-12-18	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 445	100-28a-6 100-28a-9 100-28a-9a 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-14 100-28a-15 100-28a-17 100-29-9 100-29-16 100-29-18	Amended New Amended Amended Amended Amended Amended Amended Amended Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AC Reg. No. 69-11-1 69-12-18	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Amended	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445	100-28a-6 100-28a-9 100-28a-9a 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-14 100-28a-15 100-28a-17 100-29-9 100-29-16 100-29-18 through	Amended New Amended Amended Amended Amended Amended Amended Amended Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AC Reg. No. 69-11-1 69-12-18	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Amended Amended Revoked	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 445	100-28a-6 100-28a-9 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-14 100-28a-15 100-28a-17 100-29-9 100-29-16 100-29-18 through 100-29-21	Amended New Amended Amended Amended Amended Amended Amended Amended Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AC Reg. No. 69-11-1 69-12-18 AGEN AGR	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF OARD OF	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Amended Amended Revoked Revoked	V. 36, p. 159 V. 35, p. 929 V. 35, p. 929 OF REGENTS Register V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 35, p. 1113 V. 35, p. 1113	100-28a-6 100-28a-9 100-28a-9a 100-28a-10 100-28a-11 100-28a-13 100-28a-15 100-28a-17 100-29-9 100-29-16 100-29-18 through 100-29-21 100-29-21	Amended New Amended Amended Amended Amended Amended Amended Amended Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388 V. 36, p. 368, 369 V. 36, p. 368, 369 V. 35, p. 389
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AC Reg. No. 69-11-1 69-12-18 AGEN AGR VET	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BO ERINARY EXAL	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC ' Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5 88-29-6	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Amended Revoked Revoked Revoked Revoked	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 1113 V. 35, p. 1113 V. 35, p. 1113	100-28a-6 100-28a-9 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-15 100-28a-17 100-29-9 100-29-16 100-29-18 through 100-29-21 100-24-7 100-54-7	Amended New Amended Amended Amended Amended Amended Amended Amended Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AC Reg. No. 69-11-1 69-12-18 AGEN AGR VET Reg. No.	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BO ERINARY EXAL	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS Register	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5 88-29-6 88-29-7	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Amended Revoked Revoked Revoked Revoked Revoked Revoked	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 35, p. 1113 V. 35, p. 1113 V. 35, p. 1113 V. 35, p. 1113	100-28a-6 100-28a-9 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-15 100-28a-15 100-29-9 100-29-16 100-29-18 through 100-29-21 100-54-7 100-54-12 100-76-1	Amended New Amended Amended Amended Amended Amended Amended Amended Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388 V. 36, p. 368, 369 V. 36, p. 368, 369 V. 35, p. 389
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AC Reg. No. 69-11-1 69-12-18 AGEN AGR VET	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BO ERINARY EXAL	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC ' Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5 88-29-6	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Amended Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 1113 V. 35, p. 1113 V. 35, p. 1113	100-28a-6 100-28a-9 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-15 100-28a-17 100-29-9 100-29-16 100-29-18 through 100-29-21 100-24-7 100-54-7	Amended New Amended Amended Amended Amended Amended Amended Amended Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388 V. 36, p. 368, 369 V. 36, p. 368, 369 V. 35, p. 389
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AG Reg. No. 69-11-1 69-12-18 AGEN AGR VET Reg. No. 70-5-1	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BO ERINARY EXAL Action Amended	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS Register V. 36, p. 140	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5 88-29-6 88-29-7	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Amended Revoked Revoked Revoked Revoked Revoked Revoked	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 35, p. 1113 V. 35, p. 1113 V. 35, p. 1113 V. 35, p. 1113	100-28a-6 100-28a-9 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-15 100-28a-15 100-29-9 100-29-16 100-29-18 through 100-29-21 100-54-7 100-54-12 100-76-1	Amended New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 389 V. 35, p. 390
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AG Reg. No. 69-11-1 69-12-18 AGEN AGR VET Reg. No. 70-5-1	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BO ERINARY EXAL	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS Register V. 36, p. 140	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5 88-29-6 88-29-7 88-29-7 88-29-7 88-29-8	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Amended Revoked	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 1113 V. 35, p. 1113	100-28a-6 100-28a-9 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-15 100-28a-15 100-29-9 100-29-16 100-29-18 through 100-29-21 100-54-7 100-54-12 100-76-1 through	Amended New Amended New	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 368 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 389 V. 35, p. 390 V. 36, p. 1107-1111
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AG Reg. No. 69-11-1 69-12-18 AGEN VET Reg. No. 70-5-1 AGENCY 7	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BO ERINARY EXAL Action Amended	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS Register V. 36, p. 140 ENTAL BOARD	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5 88-29-6 88-29-7 88-29-7 88-29-7 88-29-8	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Amended Revoked	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 445 V. 35, p. 1113	100-28a-6 100-28a-9 100-28a-9 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-15 100-28a-17 100-29-9 100-29-16 100-29-18 through 100-29-21 100-54-7 100-54-7 100-76-1 through 100-76-12 AGENCY 1	Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 368 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 389 V. 35, p. 390 V. 36, p. 1107-1111 DRAL SCIENCES
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AGENCY 7 Reg. No. 70-5-1 AGENCY 7 Reg. No.	Amended New New (T) New Amended New New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BO ERINARY EXAL Action Amended '1: KANSAS DE Action	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS Register V. 36, p. 140 ENTAL BOARD Register	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5 88-29-7 88-29-7 88-29-7 88-29-8 88-29-8 88-29-9	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Amended Revoked	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 445 V. 36, p. 1113 V. 35, p. 1113	100-28a-6 100-28a-9 100-28a-9 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-15 100-28a-17 100-29-9 100-29-16 100-29-18 through 100-29-21 100-54-7 100-54-7 100-76-1 through 100-76-12 AGENCY 1	Amended New Amended New	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 368 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 389 V. 35, p. 390 V. 36, p. 1107-1111 DRAL SCIENCES
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AC Reg. No. 69-11-1 69-12-18 AGEN AGR VET Reg. No. 70-5-1 AGENCY 7 Reg. No. 71-6-5	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BO ERINARY EXAL Action Amended '1: KANSAS DE Action Amended	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS Register V. 36, p. 140 ENTAL BOARD Register V. 35, p. 140	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5 88-29-7 88-29-7 88-29-7 88-29-8 88-29-9 88-29-9 88-29-9	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Amended Revoked	V. 36, p. 159 V. 35, p. 929 V. 35, p. 944 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 1113 V. 35, p. 1113	100-28a-6 100-28a-9 100-28a-9 100-28a-10 100-28a-11 100-28a-13 100-28a-15 100-28a-15 100-29-9 100-29-16 100-29-18 through 100-29-21 100-54-7 100-54-12 100-76-1 through 100-76-12 AGENCY 11 RE	Amended Output New New New T) 102: BEHAVIC GULATORY	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 390 V. 36, p. 1107-1111 DRAL SCIENCES BOARD
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AC Reg. No. 69-11-1 69-12-18 AGEN AGR VET Reg. No. 70-5-1 AGENCY 7 Reg. No. 71-6-5	Amended New New (T) New Amended New New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BOE ERINARY EXAL Action Amended T1: KANSAS DE Action Amended EENCY 74: BOA	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS Register V. 36, p. 140 ENTAL BOARD Register V. 35, p. 140 ARD OF	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5 88-29-6 88-29-7 88-29-7 88-29-8 88-29-9 88-29-9 88-29-9 88-29-10 88-29-11	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Amended Revoked	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 445 V. 35, p. 1113	100-28a-6 100-28a-9 100-28a-9 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-15 100-28a-15 100-29-9 100-29-16 100-29-16 100-29-18 through 100-29-21 100-54-7 100-54-7 100-54-12 100-76-1 through 100-76-12 AGENCY 1' RE	Amended	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 390 V. 36, p. 1107-1111 ORAL SCIENCES BOARD Register
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AC Reg. No. 69-11-1 69-12-18 AGEN AGR VET Reg. No. 70-5-1 AGENCY 7 Reg. No. 71-6-5	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BO ERINARY EXAL Action Amended '1: KANSAS DE Action Amended	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS Register V. 36, p. 140 ENTAL BOARD Register V. 35, p. 140 ARD OF	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5 88-29-6 88-29-7 88-29-7 88-29-8 88-29-9 88-29-9 88-29-9 88-29-10 88-29-11	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Amended Revoked	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 445 V. 35, p. 1113	100-28a-6 100-28a-9 100-28a-9 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-15 100-28a-15 100-29-9 100-29-16 100-29-18 through 100-29-21 100-54-7 100-54-12 100-76-1 through 100-76-12 AGENCY 1 RE Reg. No. 102-3-7b	Amended Comparison New Amended New Amended New Amended New Amended New New (T) 102: BEHAVIO COLLATORY Action New (T)	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 368 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 390 V. 36, p. 1107-1111 DRAL SCIENCES BOARD Register V. 36, p. 546
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AC Reg. No. 69-11-1 69-12-18 AGEN AGR VET Reg. No. 70-5-1 AGENCY 7 Reg. No. 71-6-5 AG	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BO ERINARY EXA Action Amended 'I: KANSAS DE Action Amended SENCY 74: BOA ACCOUNTAN	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1098 CMENT OF DARD OF MINERS Register V. 36, p. 140 CNTAL BOARD Register V. 35, p. 140 CNTAL BOARD	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5 88-29-6 88-29-7 88-29-7 88-29-8 88-29-9 88-29-9 88-29-9 88-29-10 88-29-11	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Amended Revoked	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 445 V. 36, p. 1113 V. 35, p. 1113	100-28a-6 100-28a-9 100-28a-9 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-15 100-28a-15 100-29-9 100-29-16 100-29-18 through 100-29-21 100-54-7 100-54-7 100-54-12 100-76-1 through 100-76-12 AGENCY 1 RE Reg. No. 102-3-7b 102-3-7b	Amended Comparison Amended New Amended Ame	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 389 V. 35, p. 390 V. 36, p. 1107-1111 DRAL SCIENCES BOARD Register V. 36, p. 546 V. 36, p. 546 V. 36, p. 548
68-7-10 68-7-22 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AGEN AGEN AGEN AGEN VET Reg. No. 70-5-1 AGENCY 7 Reg. No. 71-6-5 AG Reg. No.	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BO ERINARY EXA Action Amended T: KANSAS DE Action Amended EENCY 74: BOA ACCOUNTAN Action	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS Register V. 36, p. 140 CNTAL BOARD Register V. 35, p. 140 CRD OF	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5 88-29-7 88-29-7 88-29-7 88-29-8 88-29-9 88-29-9 88-29-10 88-29-11	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Amended Revoked	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 445 V. 35, p. 1113	100-28a-6 100-28a-9 100-28a-9 100-28a-10 100-28a-11 100-28a-11 100-28a-13 100-28a-15 100-28a-15 100-29-16 100-29-16 100-29-18 through 100-29-21 100-54-7 100-54-12 100-76-1 through 100-76-12 AGENCY 10 RE Reg. No. 102-3-7b 102-3-7b 102-5-7b	Amended Amende	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 389 V. 35, p. 390 V. 36, p. 1107-1111 DRAL SCIENCES BOARD Register V. 36, p. 546 V. 36, p. 546 V. 36, p. 546 V. 36, p. 546
68-7-10 68-7-22 68-7-23 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 ACC Reg. No. 69-11-1 69-12-18 AGEN AGR VET Reg. No. 70-5-1 AGENCY 7 Reg. No. 71-6-5 AG Reg. No. 74-1-3	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BOE ERINARY EXA Action Amended T1: KANSAS DE Action Amended EENCY 74: BOA ACCOUNTAN Action Amended	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1098 CMENT OF DARD OF MINERS Register V. 36, p. 140 CNTAL BOARD Register V. 35, p. 140 CRD OF ICY Register V. 35, p. 84	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5 88-29-7 88-29-7 88-29-7 88-29-8 88-29-9 88-29-10 88-29-10 88-29-11 AGEN Reg. No.	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Revoked	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 445 V. 36, p. 1113 V. 35, p. 1113 V. 36, p. 1113 V. 37, p. 1113 V. 38, p. 1113 V. 38, p. 1113 V. 39, p. 1113	100-28a-6 100-28a-9 100-28a-9 100-28a-10 100-28a-11 100-28a-11 100-28a-13 100-28a-15 100-28a-15 100-28a-17 100-29-16 100-29-16 100-29-18 through 100-54-7 100-54-12 100-76-1 through 100-76-12 AGENCY 1: RE Reg. No. 102-3-7b 102-5-7b 102-5-7b	Amended Amended New Amended Comparison New New New New T) New	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 390 V. 36, p. 1107-1111 DRAL SCIENCES BOARD Register V. 36, p. 546 V. 36, p. 1089 V. 36, p. 546 V. 36, p. 1090
68-7-10 68-7-22 68-7-23 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 ACC Reg. No. 69-11-1 69-12-18 AGEN VET Reg. No. 70-5-1 AGENCY 7 Reg. No. 71-6-5 AG Reg. No. 74-1-3 74-1-4	Amended New New (T) New Amended New New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BOE ERINARY EXAL Action Amended T1: KANSAS DE Action Amended EENCY 74: BOA ACCOUNTAN Action Amended Amended Amended	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS Register V. 36, p. 140 ENTAL BOARD Register V. 35, p. 84 V. 35, p. 84 V. 35, p. 84	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5 88-29-7 88-29-7 88-29-7 88-29-8 88-29-9 88-29-10 88-29-11 AGEN Reg. No. 91-1-70a	Amended Revoked Amended Revoked New Y 88: BOARD C Action Amended Amended Revoked	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 445 V. 35, p. 1113 V. 36, p. 609	100-28a-6 100-28a-9 100-28a-9 100-28a-10 100-28a-11 100-28a-11 100-28a-13 100-28a-15 100-28a-15 100-28a-17 100-29-16 100-29-18 through 100-54-7 100-54-12 100-76-1 through 100-76-12 AGENCY 1 RE Reg. No. 102-3-7b 102-3-7b 102-5-7b 102-5-7b 102-8-1	Amended Amended New Amended Comparison Amended New New New (T) New New (T) New New (T) New New (T)	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 390 V. 36, p. 1107-1111 PRAL SCIENCES BOARD Register V. 36, p. 546 V. 36, p. 1089 V. 36, p. 546 V. 36, p. 1090 V. 36, p. 1090 V. 35, p. 628
68-7-10 68-7-22 68-7-23 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 ACC Reg. No. 69-11-1 69-12-18 AGEN VET Reg. No. 70-5-1 AGENCY 7 Reg. No. 71-6-5 AG Reg. No. 74-1-3 74-1-4 74-2-7	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BOE ERINARY EXA Action Amended T1: KANSAS DE Action Amended EENCY 74: BOA ACCOUNTAN Action Amended	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS Register V. 36, p. 140 ENTAL BOARD Register V. 35, p. 140 ENTAL BOARD Register V. 35, p. 140 ROP ROP ROP ROP ROP ROP ROP RO	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5 88-29-7 88-29-7 88-29-7 88-29-8 88-29-9 88-29-10 88-29-10 88-29-11 AGEN Reg. No.	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Revoked	V. 36, p. 159 V. 35, p. 929 V. 36, p. 445 V. 36, p. 445 V. 36, p. 445 V. 36, p. 445 V. 35, p. 1113 V. 35, p. 113	100-28a-6 100-28a-9 100-28a-9 100-28a-10 100-28a-11 100-28a-11 100-28a-13 100-28a-15 100-28a-15 100-28a-17 100-29-16 100-29-16 100-29-18 through 100-54-7 100-54-12 100-76-1 through 100-76-12 AGENCY 1: RE Reg. No. 102-3-7b 102-5-7b 102-5-7b	Amended Amended New Amended Comparison New New New New T) New	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 390 V. 36, p. 1107-1111 DRAL SCIENCES BOARD Register V. 36, p. 546 V. 36, p. 1089 V. 36, p. 546 V. 36, p. 1090
68-7-10 68-7-22 68-7-23 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 ACC Reg. No. 69-11-1 69-12-18 AGEN VET Reg. No. 70-5-1 AGENCY 7 Reg. No. 71-6-5 AG Reg. No. 74-1-3 74-1-4	Amended New New (T) New Amended New New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BOE ERINARY EXAL Action Amended T1: KANSAS DE Action Amended EENCY 74: BOA ACCOUNTAN Action Amended Amended Amended	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS Register V. 36, p. 140 ENTAL BOARD Register V. 35, p. 84 V. 35, p. 84 V. 35, p. 84	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5 88-29-7 88-29-7 88-29-7 88-29-8 88-29-9 88-29-10 88-29-11 AGEN Reg. No. 91-1-70a	Amended Revoked Amended Revoked New Y 88: BOARD C Action Amended Amended Revoked	V. 36, p. 159 V. 35, p. 929 V. 36, p. 445 V. 36, p. 445 V. 36, p. 445 V. 36, p. 445 V. 35, p. 1113 V. 35, p. 113	100-28a-6 100-28a-9 100-28a-9 100-28a-10 100-28a-11 100-28a-11 100-28a-13 100-28a-15 100-28a-15 100-28a-17 100-29-16 100-29-18 through 100-54-7 100-54-12 100-76-1 through 100-76-12 AGENCY 1 RE Reg. No. 102-3-7b 102-3-7b 102-5-7b 102-5-7b 102-8-1	Amended Amended New Amended Comparison Amended New New New (T) New New (T) New New (T) New New (T)	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 390 V. 36, p. 1107-1111 PRAL SCIENCES BOARD Register V. 36, p. 546 V. 36, p. 1089 V. 36, p. 546 V. 36, p. 1090 V. 36, p. 1090 V. 35, p. 628
68-7-10 68-7-22 68-7-23 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 ACC Reg. No. 69-11-1 69-12-18 AGEN VET Reg. No. 70-5-1 AGENCY 7 Reg. No. 71-6-5 AG Reg. No. 74-1-3 74-1-4 74-2-7	Amended New New (T) New Amended New New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BOE ERINARY EXAL Action Amended T1: KANSAS DE Action Amended EENCY 74: BOA ACCOUNTAN Action Amended Amended Amended Amended	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS Register V. 36, p. 140 ENTAL BOARD Register V. 35, p. 140 ENTAL BOARD Register V. 35, p. 140 ROP ROP ROP ROP ROP ROP ROP RO	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5 88-29-7 88-29-7 88-29-7 88-29-8 88-29-9 88-29-10 88-29-11 AGEN Reg. No. 91-1-70a 91-1-208	Amended Revoked Amended Revoked New Y 88: BOARD C Action Amended Revoked	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 445 V. 36, p. 1113 V. 35, p. 1113 V. 36, p. 609	100-28a-6 100-28a-9 100-28a-9 100-28a-10 100-28a-11 100-28a-11 100-28a-13 100-28a-15 100-28a-15 100-28-17 100-29-16 100-29-18 through 100-29-21 100-54-7 100-54-12 100-76-1 through 100-76-12 AGENCY 1 RE Reg. No. 102-3-7b 102-3-7b 102-5-7b 102-5-7b 102-8-1 102-8-1	Amended Amended New Amended Comparison New Amended New New (T)	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 389 V. 35, p. 390 V. 36, p. 1107-1111 ORAL SCIENCES BOARD Register V. 36, p. 546 V. 36, p. 1089 V. 36, p. 546 V. 36, p. 1090 V. 36, p. 546 V. 36, p. 1090 V. 35, p. 628 V. 35, p. 930 V. 35, p. 930 V. 35, p. 628
68-7-10 68-7-22 68-7-23 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AGEN CONTROL OF THE SECTION AGEN AGEN AGEN AGEN AGEN AGEN CONTROL OF THE SECTION AGEN AGEN AGEN AGEN AGEN AGEN CONTROL OF THE SECTION AGEN AGEN AGEN AGEN AGEN AGEN AGEN AGEN	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BO ERINARY EXAL Action Amended T: KANSAS DE Action Amended ENCY 74: BOA ACCOUNTAN Action Amended Amended Amended Amended Amended	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS Register V. 36, p. 140 CNTAL BOARD Register V. 35, p. 140 CNTAL BOARD Register V. 35, p. 140 CNTAL BOARD Register V. 35, p. 84 V. 35, p. 84 V. 35, p. 85 V. 35, p. 85 V. 35, p. 85 V. 35, p. 86	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-5 88-29-7 88-29-7 88-29-7 88-29-9 88-29-10 88-29-10 88-29-11 AGEN Reg. No. 91-1-70a 91-1-208 91-1-221	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Revoked CY 91: DEPART EDUCATIO Action Amended Amended Revoked Amended Amended Revoked Amended Amended Amended Revoked Amended	V. 36, p. 159 V. 35, p. 929 PREGENTS Register V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 1113 V. 35, p. 1113 V. 36, p. 609 V. 36, p. 610	100-28a-6 100-28a-9 100-28a-9 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-15 100-28a-15 100-28a-17 100-29-9 100-29-16 100-29-18 through 100-29-21 100-54-7 100-54-12 100-76-1 through 100-76-12 AGENCY 1 RE Reg. No. 102-3-7b 102-3-7b 102-5-7b 102-5-7b 102-8-1 102-8-1 102-8-2 102-8-2	Amended To be well and the wel	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 389 V. 35, p. 390 V. 36, p. 1107-1111 PRAL SCIENCES BOARD Register V. 36, p. 546 V. 36, p. 1089 V. 36, p. 546 V. 36, p. 1090 V. 35, p. 628 V. 35, p. 930 V. 35, p. 628 V. 35, p. 931
68-7-10 68-7-22 68-7-23 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AC Reg. No. 69-11-1 69-12-18 AGEN AGR VET Reg. No. 70-5-1 AGENCY 7 Reg. No. 71-6-5 AG Reg. No. 74-1-3 74-1-4 74-2-7 74-4-8 74-4-9 74-5-2	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BOE ERINARY EXA Action Amended 'I: KANSAS DE Action Amended SENCY 74: BOA ACCOUNTAN Action Amended	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 EMENT OF DARD OF MINERS Register V. 36, p. 140 ENTAL BOARD Register V. 35, p. 140 ENTAL BOARD Register V. 35, p. 140 ENTAL BOARD Register V. 35, p. 84 V. 35, p. 84 V. 35, p. 85 V. 35, p. 85 V. 35, p. 86 V. 35, p. 86 V. 35, p. 87	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-6 88-29-7 88-29-7 88-29-7 88-29-8 88-29-9 88-29-10 88-29-11 AGEN Reg. No. 91-1-70a 91-1-208 91-1-221 91-1-235 91-31-32	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Amended Revoked CY 91: DEPART EDUCATION Action Amended Amended Revoked	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 445 V. 36, p. 1113 V. 35, p. 1113 V. 36, p. 609	100-28a-6 100-28a-9 100-28a-9 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-15 100-28a-15 100-28-15 100-29-16 100-29-16 100-29-18 through 100-29-11 through 100-76-12 AGENCY 1 RE Reg. No. 102-3-7b 102-3-7b 102-5-7b 102-5-7b 102-8-1 102-8-2 102-8-2 102-8-2 102-8-2	Amended To be the the the the the the the the the th	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 389 V. 35, p. 390 V. 36, p. 1107-1111 DRAL SCIENCES BOARD Register V. 36, p. 546 V. 36, p. 1089 V. 36, p. 546 V. 36, p. 1089 V. 36, p. 546 V. 36, p. 1090 V. 35, p. 628 V. 35, p. 931 V. 35, p. 628 V. 35, p. 931 V. 35, p. 629
68-7-10 68-7-22 68-7-23 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 ACC Reg. No. 69-11-1 69-12-18 AGEN AGR VET Reg. No. 70-5-1 AGENCY 7 Reg. No. 71-6-5 AG Reg. No. 74-1-3 74-1-4 74-2-7 74-4-8 74-4-9 74-5-2 74-5-2a	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BOE ERINARY EXA Action Amended T: KANSAS DE Action Amended SENCY 74: BOA ACCOUNTAN Action Amended	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS Register V. 36, p. 140 ENTAL BOARD Register V. 35, p. 140 ENTAL BOARD Register V. 35, p. 84 V. 35, p. 84 V. 35, p. 84 V. 35, p. 85 V. 35, p. 85 V. 35, p. 85 V. 35, p. 86 V. 35, p. 87 V. 35, p. 87 V. 35, p. 87 V. 35, p. 88	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-29-2 88-29-5 88-29-6 88-29-7 88-29-7 88-29-8 88-29-9 88-29-10 88-29-11 AGEN Reg. No. 91-1-70a 91-1-208 91-1-221 91-1-235 91-31-32 91-38-1	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Revoked CY 91: DEPART EDUCATIO Action Amended Amended Revoked Amended Amended Revoked Amended Amended Amended Revoked Amended	V. 36, p. 159 V. 35, p. 929 PREGENTS Register V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 1113 V. 35, p. 1113 V. 36, p. 609 V. 36, p. 610	100-28a-6 100-28a-9 100-28a-9 100-28a-10 100-28a-11 100-28a-12 100-28a-13 100-28a-15 100-28a-15 100-29-9 100-29-16 100-29-18 through 100-29-21 100-54-7 100-54-7 100-54-12 100-76-11 through 100-76-12 AGENCY 1 RE Reg. No. 102-3-7b 102-3-7b 102-3-7b 102-5-7b 102-8-1 102-8-1 102-8-2 102-8-2 102-8-2 102-8-4 102-8-4	Amended Amended New Amended To be a compared to the second t	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 389 V. 35, p. 390 V. 36, p. 1107-1111 DRAL SCIENCES BOARD Register V. 36, p. 546 V. 36, p. 1089 V. 36, p. 1089 V. 36, p. 1089 V. 36, p. 546 V. 36, p. 1090 V. 35, p. 628 V. 35, p. 930 V. 35, p. 931 V. 35, p. 629 V. 35, p. 931 V. 35, p. 629 V. 35, p. 931
68-7-10 68-7-22 68-7-23 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AGEN Reg. No. 69-11-1 69-12-18 AGENCY 7 Reg. No. 70-5-1 AGENCY 7 Reg. No. 71-6-5 AG Reg. No. 74-1-3 74-1-4 74-2-7 74-4-8 74-4-9 74-5-2 74-5-2a 74-5-2b	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BOE ERINARY EXA Action Amended 'I: KANSAS DE Action Amended SENCY 74: BOA ACCOUNTAN Action Amended	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 EMENT OF DARD OF MINERS Register V. 36, p. 140 ENTAL BOARD Register V. 35, p. 140 ENTAL BOARD Register V. 35, p. 140 ENTAL BOARD Register V. 35, p. 84 V. 35, p. 84 V. 35, p. 85 V. 35, p. 85 V. 35, p. 86 V. 35, p. 86 V. 35, p. 87	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-7 88-29-6 88-29-7 88-29-8 88-29-9 88-29-10 88-29-11 AGEN Reg. No. 91-1-70a 91-1-208 91-1-235 91-31-32 91-38-1 through	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Revoked Amended CY 91: DEPART EDUCATION Action Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 445 V. 35, p. 1113 V. 36, p. 609 V. 36, p. 609 V. 36, p. 609 V. 36, p. 609 V. 36, p. 610 V. 35, p. 1014	100-28a-6 100-28a-9 100-28a-9 100-28a-10 100-28a-11 100-28a-11 100-28a-13 100-28a-15 100-28a-15 100-29-9 100-29-16 100-29-16 100-29-18 through 100-54-7 100-54-7 100-54-12 100-76-1 through 100-76-12 AGENCY 1 RE Reg. No. 102-3-7b 102-3-7b 102-3-7b 102-8-1 102-8-1 102-8-2 102-8-2 102-8-2 102-8-4 102-8-4 102-8-6	Amended Amended New Amended To be the service of the	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 389 V. 35, p. 389 V. 36, p. 1107-1111 DRAL SCIENCES BOARD Register V. 36, p. 546 V. 36, p. 1089 V. 36, p. 546 V. 36, p. 1090 V. 36, p. 546 V. 36, p. 1090 V. 36, p. 546 V. 36, p. 54
68-7-10 68-7-22 68-7-23 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AGEN AGEN AGEN VET Reg. No. 70-5-1 AGENCY 7 Reg. No. 71-6-5 AG Reg. No. 74-1-3 74-1-4 74-2-7 74-4-8 74-4-9 74-5-2 74-5-2a 74-5-2b 74-5-101	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BOE ERINARY EXA Action Amended T: KANSAS DE Action Amended SENCY 74: BOA ACCOUNTAN Action Amended	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS Register V. 36, p. 140 ENTAL BOARD Register V. 35, p. 140 ENTAL BOARD Register V. 35, p. 84 V. 35, p. 84 V. 35, p. 84 V. 35, p. 85 V. 35, p. 85 V. 35, p. 85 V. 35, p. 86 V. 35, p. 87 V. 35, p. 87 V. 35, p. 87 V. 35, p. 88	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-6 88-29-7 88-29-7 88-29-8 88-29-9 88-29-10 88-29-11 AGEN Reg. No. 91-1-70a 91-1-208 91-1-221 91-1-235 91-31-32 91-38-1 through 91-38-8	Amended Revoked Amended Revoked New Y 88: BOARD C Action Amended Revoked Amended CY 91: DEPART EDUCATION Action Amended Amended Amended Revoked Amended	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 445 V. 36, p. 1113 V. 35, p. 1113 V. 36, p. 1113 V. 36, p. 1113 V. 36, p. 1113 V. 37, p. 1113 V. 38, p. 1113 V. 39, p. 1113 V. 31, p. 1113 V. 31, p. 1113 V. 35, p. 1113 V. 3	100-28a-6 100-28a-9 100-28a-9 100-28a-10 100-28a-11 100-28a-11 100-28a-13 100-28a-15 100-28a-15 100-28a-17 100-29-16 100-29-16 100-29-18 through 100-54-7 100-54-7 100-54-12 100-76-1 through 100-76-12 AGENCY 10 RE Reg. No. 102-3-7b 102-3-7b 102-3-7b 102-5-7b 102-8-1 102-8-1 102-8-2 102-8-2 102-8-4 102-8-6 102-8-6	Amended Amended New Amended To be the service of the	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 389 V. 35, p. 389 V. 35, p. 389 V. 36, p. 1090 V. 36, p. 1090 V. 36, p. 546 V. 36, p. 1090 V. 35, p. 628 V. 35, p. 931 V. 35, p. 629 V. 35, p. 932
68-7-10 68-7-22 68-7-23 68-7-23 68-7-23 68-9-2 68-9-3 68-11-3 AGEN Reg. No. 69-11-1 69-12-18 AGENCY 7 Reg. No. 70-5-1 AGENCY 7 Reg. No. 71-6-5 AG Reg. No. 74-1-3 74-1-4 74-2-7 74-4-8 74-4-9 74-5-2 74-5-2a 74-5-2b	Amended New New (T) New Amended New New SENCY 69: BOA COSMETOLO Action Amended New CY 70: DEPART ICULTURE, BOE ERINARY EXA Action Amended T: KANSAS DE Action Amended SENCY 74: BOA ACCOUNTAN Action Amended	V. 35, p. 697 V. 35, p. 427 V. 36, p. 822 V. 36, p. 1017 V. 35, p. 698 V. 35, p. 699 V. 35, p. 700 RD OF GY Register V. 35, p. 1097 V. 35, p. 1098 CMENT OF DARD OF MINERS Register V. 36, p. 140 ENTAL BOARD Register V. 35, p. 140 ENTAL BOARD Register V. 35, p. 84 V. 35, p. 84 V. 35, p. 84 V. 35, p. 85 V. 35, p. 85 V. 35, p. 85 V. 35, p. 86 V. 35, p. 87 V. 35, p. 87 V. 35, p. 87 V. 35, p. 88	86-1-5 86-2-8 86-3-19 86-3-26a 86-3-30 86-3-31 AGENC Reg. No. 88-3-8a 88-24-2 88-28-1 through 88-28-8 88-29-2 88-29-7 88-29-6 88-29-7 88-29-8 88-29-9 88-29-10 88-29-11 AGEN Reg. No. 91-1-70a 91-1-208 91-1-235 91-31-32 91-38-1 through	Amended Revoked Amended Amended Revoked New Y 88: BOARD C Action Amended Amended Revoked Amended CY 91: DEPART EDUCATION Action Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 36, p. 159 V. 35, p. 929 V. 36, p. 444 V. 36, p. 445 V. 36, p. 445 V. 36, p. 445 V. 35, p. 1113 V. 36, p. 609 V. 36, p. 609 V. 36, p. 609 V. 36, p. 609 V. 36, p. 610 V. 35, p. 1014	100-28a-6 100-28a-9 100-28a-9 100-28a-10 100-28a-11 100-28a-11 100-28a-13 100-28a-15 100-28a-15 100-29-9 100-29-16 100-29-16 100-29-18 through 100-54-7 100-54-7 100-54-12 100-76-1 through 100-76-12 AGENCY 1 RE Reg. No. 102-3-7b 102-3-7b 102-3-7b 102-8-1 102-8-1 102-8-2 102-8-2 102-8-2 102-8-4 102-8-4 102-8-6	Amended Amended New Amended To be the service of the	V. 35, p. 353 V. 35, p. 354 V. 35, p. 354 V. 35, p. 354 V. 35, p. 355 V. 35, p. 355 V. 35, p. 355 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 356 V. 35, p. 387 V. 35, p. 388 V. 36, p. 368, 369 V. 35, p. 389 V. 35, p. 389 V. 35, p. 389 V. 36, p. 1107-1111 DRAL SCIENCES BOARD Register V. 36, p. 546 V. 36, p. 1089 V. 36, p. 546 V. 36, p. 1090 V. 36, p. 546 V. 36, p. 1090 V. 36, p. 546 V. 36, p. 54

			1\a	111545 1	egistei			
102 0 0	NI (Tr)	V 25 (4)	111 4 2422	NI	V 25 157	111 17 01	۱ ـ ا ـ ـ ـ ـ ـ ـ ـ ـ ـ ـ ـ ـ ـ ـ ـ ـ ـ	V 25 160
102-8-8	New (T)	V. 35, p. 646	111-4-3422	New	V. 35, p. 157	111-17-21	Amended	V. 35, p. 160
102-8-8	New	V. 35, p. 932	111-4-3423	New	V. 35, p. 157	111-17-24	New	V. 35, p. 136
102-8-9			111-4-3424			111-17-25	New	V. 35, p. 161
through		** ** ***	through		17.05 407.400	111-17-27	New	V. 35, p. 408
102-8-12	New (T)	V. 35, p. 630-632	111-4-3431	New	V. 35, p. 406-408	111-17-28	New	V. 35, p. 465
102-8-9			111-4-3432	New	V. 35, p. 491	111-17-29	New	V. 35, p. 466
through			111-4-3433			111-17-30	New	V. 35, p. 498
102-8-12	New	V. 35, p. 932-935	through	N.T.	T7 OF 4FF 4/1	111-17-31	New	V. 35, p. 499
AGENCY	105: BOARD	OF INDIGENTS'	111-4-3439	New	V. 35, p. 457-461	111-17-32	New	V. 35, p. 678
	DEFENSE SER		111-4-3440	Amended		111-17-33	New	V. 35, p. 769
			111-4-3441	New	V. 35, p. 463	111-17-34	Amended	V. 35, p. 1065
Reg. No.	Action	Register	111-4-3442			111-17-35	New	V. 35, p. 909
105-5-2	Amended	V. 35, p. 936	through		** ** ***	111-17-36	New	V. 36, p. 194
105-5-3	Amended	V. 35, p. 936	111-4-3445	New	V. 35, p. 492-495	111-18-1		
105-5-6	Amended	V. 35, p. 937	111-4-3446			through		
105-5-7	Amended	V. 35, p. 937	through		T. 05 500 504	111-18-7	New	V. 36, p. 220-224
105-5-8	Amended	V. 35, p. 937	111-4-3449	New	V. 35, p. 582-584	111-19-1		
105-11-1	Amended	V. 35, p. 938	111-4-3450	New	V. 35, p. 678	through		T7.0/ 004.00F
AGENCY 1	109· ROARD (OF EMERGENCY	111-4-3451	New	V. 35, p. 765	111-19-3	New	V. 36, p. 224-225
	MEDICAL SEI		111-4-3452	New	V. 35, p. 766	111-19-4	Amended	V. 36, p. 1061
1	VILDICAL SLI	AVICES	111-4-3453	New	V. 35, p. 768	111-19-5	New	V. 36, p. 226
Reg. No.	Action	Register	111-4-3454	New	V. 35, p. 821	111-19-6	New	V. 36, p. 405
109-1-1	Amended	V. 35, p. 314	111-4-3455			111-19-7	Amended	V. 36, p. 1062
109-2-1	Amended	V. 35, p. 317	through	3.7	TT 08 000 000	111-19-8	New	V. 36, p. 407
109-2-2	Amended	V. 35, p. 317	111-4-3459	New	V. 35, p. 900-904	111-19-9	New	V. 36, p. 493
109-2-6	Amended	V. 35, p. 318	111-4-3460	New	V. 35, p. 1057	111-19-10	New	V. 36, 494
109-2-7	Revoked	V. 35, p. 318	111-4-3461	New	V. 35, p. 1058	111-19-11	Amended	V. 36, p. 884
109-2-8	Amended	V. 36, p. 593	111-4-3462	New	V. 35, p. 1059	111-19-12		
109-2-11	Amended	V. 35, p. 320	111-4-3463			through		
109-3-3	Amended	V. 36, p. 329	through			111-19-18	New	V. 36, p. 495-496
109-3-4	Amended	V. 36, p. 330	111-4-3465	New	V. 36, p. 160-162	111-19-19	New	V. 36, p. 568
109-5-1a	Amended	V. 35, p. 935	111-4-3466	New	V. 36, p. 192	111-19-20	New	V. 36, p. 983
109-5-1b	Amended	V. 35, p. 936	111-4-3467	New	V. 36, p. 193	111-19-21	New	V. 36, p. 984
109-5-1c	Amended	V. 35, p. 936	111-4-3468	New	V. 36, p. 217	111-301-28	Amended	V. 36, p. 163
109-5-5	Amended	V. 35, p. 582	111-4-3469	New	V. 36, p. 218	111-301-45	Amended	V. 35, p. 770
109-7-1	Amended	V. 35, p. 321	111-4-3470	New	V. 36, p. 219	111-301-47	New	V. 35, p. 1066
ACENIC	CV 111. I/ A NIC	AS LOTTERY	111-4-3471			111-301-48	Amended	V. 36, p. 195
			through	N.T.	T7 04 200 400	111-301-49	New	V. 35, p. 1066
A compl	ete index listi	ng all regulations	111-4-3475	New	V. 36, p. 398-403	111-301-50	Amended	V. 36, p. 195
		from 1988 through	111-4-3476			111-301-51	New	V. 35, p. 1067
		Vol. 19, No. 52, De-	through	Marir	V. 36, p. 483-492	111-301-52 111-301-53	Amended	V. 36, p. 196
		gister. A list of reg-	111-4-3485 111-4-3486	New New	-			
		rough 2003 can be	111-4-3487	Amended	V. 36, p. 565 V. 36, p. 880	through 111-301-57	New	V. 35, p. 1067-1068
		52, December 25,	111-4-3488	New	V. 36, p. 567	111-301-57	New	V. 36, p. 884
		of regulations filed	111-4-3489	New	V. 36, p. 881	111-301-59	New	V. 36, p. 885
		an be found in the	111-4-3490	New	V. 36, p. 882	111-301-60	TNCVV	v. 50, p. 665
		er 29, 2005 Kansas	111-4-3491	INCVV	v. 50, p. 662	through		
		ons filed from 2006	through			111-301-62	Amended	V. 36, p. 985-986
		l in the Vol. 26, No.	111-4-3498	New	V. 36, p. 973-983	111-307-5	Amended	V. 35, p. 771
		nsas Register. A list	111-4-3499	INCVV	v. 50, p. 775-765	111-307-7	Amended	V. 35, p. 771
		2008 through No-	through			111-312-3	Amended	V. 36, p. 987
		in the Vol. 28, No.	111-4-3501	New	V. 36, p. 1055-1057	111-312-5	Amended	V. 36, p. 987
		nsas Register. A list	111-5-219	New	V. 36, p. 1033-1037 V. 36, p. 493	111-312-7	Amended	V. 36, p. 988
		December 1, 2009,	111-5-220	1 40 00	v. 50, p. ±55	111-401-35	Amended	V. 36, p. 497
		1, can be found in	through			111-401-36	Amended	V. 35, p. 162
		ber 29, 2011 Kansas	111-5-227	New	V. 35, p. 1060-1064	111-401-37	Amended	V. 35, p. 162 V. 35, p. 162
0		ons filed from De-	111-6-1	Amended	. •	111-401-63	Amended	V. 36, p. 1063
		November 6, 2013,	111-7-66	Amended		111-401-03	Amended	V. 36, p. 196
		, No. 52, December	111-7-68	Amended		111-401-148	Amended	V. 35, p. 504
26, 2013 Kar	nsas Register. A	list of regulations	111-7-03	Amended	. 1	111-401-185	Timeraca	v. 55, p. 564
filed from N	Iovember 7, 201	13, through Decem-	111-7-75	Amended		through		
		in the Vol. 34, No.	111-7-265	New	V. 36, p. 404	111-401-188	Amended	V. 35, p. 139
53, December	er 31, 2015 Kan	sas Register.	111-7-266	New	V. 36, p. 405	111-401-190	Timeraca	v. 55, p. 157
Reg. No.	Action	Register	111-9-216	New	V. 35, p. 586	through		
111-2-30	Amended	V. 36, p. 880	111-9-217	New	V. 35, p. 586	111-401-194	Amended	V. 35, p. 140
111-2-62	Amended	V. 36, p. 564	111-15-1	- 10.1	, ۲	111-401-200a	New	V. 35, p. 409
111-2-321	New	V. 35, p. 898	through			111-401-201		, p. 207
111-2-322	New	V. 35, p. 898	111-15-3	Amended	l V. 36, p. 1059	through		
111-3-1	Amended	V. 35, p. 898	111-15-5	Amended		111-401-205	New	V. 35, p. 409-411
111-4-878	Amended	V. 35, p. 819	111-15-6	Amended		111-401-206	New	V. 36, p. 569
111-4-879	Amended	V. 35, p. 819	111-15-7	Amended		111-401-207	New	V. 36, p. 569
111-4-880	Amended	V. 35, p. 819	111-15-21	Amended		111-401-208		, p
111-4-3417		, p. 017	111-16-1	Amended		through		
through			111-16-2	Amended		111-401-210	Amended	V. 36, p. 1065-1066
111-4-3421	New	V. 35, p. 131-135	111-16-5	Amended		111-501-6	Amended	V. 36, p. 988
		. 1			. 1			. 1

				O				
111-501-38	Amended	V. 36, p. 227	115-4-2	Amended	V. 36, p. 273	117-8-3	New	V. 35, p. 199
111-501-122 through 111-501-127 111-501-128	New	V. 35, p. 412-414	115-4-11 115-7-1 115-7-10 115-8-1	Amended Amended Amended Amended	V. 36, p. 274 V. 35, p. 974 V. 35, p. 975 V. 36, p. 398	AGENCY 123: DEPARTMENT OF CORRECTIONS – DIVISION OF JUVENILE SERVICES		SION OF
through 111-501-138 111-601-1	New	V. 35, p. 910-912	115-8-13 115-8-24 115-16-3	Amended Revoked Amended	V. 35, p. 975 V. 35, p. 633 V. 36, p. 859	Reg. No. 123-17-101	Action New	Register V. 36, p. 369
through 111-601-8 111-601-14	New	V. 36, p. 164-167	115-17-2 115-18-20 115-20-2	Amended Amended Amended	V. 35, p. 976 V. 35, p. 977	REI	5: KANSAS AGI MEDIATION BO	
through 111-601-27	New	V. 36, p. 167-171	115-20-7	Amended	V. 36, p. 859 V. 36, p. 860	Reg. No. 125-1-6 125-1-7	Action Amended Amended	Register V. 35, p. 489 V. 35, p. 490
111-601-28 111-601-29	Amended	V. 36, p. 497	AGENCY 117: REAL ESTATE APPRAISAL BOARD			AGENCY 128: DEPARTMENT OF		
through 111-601-45	New	V. 36, p. 172-178	Reg. No. 117-1-1	Action Amended	Register V. 36, p. 452		MMERCE—KAN LETIC COMMIS	
	NCY 112: RAC MING COMM		117-2-2 117-2-2a 117-2-4	Amended Amended Amended	V. 36, p. 452 V. 36, p. 453 V. 35, p. 536	· ·		Register V. 35, p. 1115
Reg. No.	Action	D ' (117 2 2			128-6-4	Amended	V. 36, 271
112-102-2	Amended	Register V. 35, p. 612	117-3-2 117-3-2a	Amended Amended	V. 36, p. 454 V. 36, p. 455	AG	ENCY 133: OFFIC	CE OF
AGENC	Amended Y 115: DEPA		117-3-2a 117-3-4 117-4-1	Amended Amended Amended	V. 36, p. 455 V. 35, p. 537 V. 35, p. 537	AGI ADMIN	ENCY 133: OFFIC NISTRATIVE HE	CE OF CARINGS
AGENC	Amended Y 115: DEPA	V. 35, p. 612 RTMENT OF	117-3-2a 117-3-4	Amended Amended	V. 36, p. 455 V. 35, p. 537	AG	ENCY 133: OFFIC	CE OF

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594